
CHEMISTRY

BOOKS - KUMAR PRAKASHAN KENDRA CHEMISTRY

(GUJRATI ENGLISH)

HALOALKANES AND HALOARENES

Example

1. Draw the structures of all the eight structural isomers that have the

molecular formula . Name each isomer according to IUPAC

system and classify them as primary, secondary or tertiary bromide.

Watch Video Solution

C5H11Br

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_q3fQYUbPRWWQ


2. Write IUPAC names of the following : 

View Text Solution

3. Identify all the possible monochloro structural isomers expected to be

formed on free radical monochlorination of .

Watch Video Solution

(CH3)2CHCH2CH3

4. Write the products of the following reactions. 

View Text Solution

5. Haloalkanes react with KCN to form alkyl cyanides as main product

while AgCN forms isocyanides as the chief product. Explain.

https://dl.doubtnut.com/l/_s0axsAC70iTO
https://dl.doubtnut.com/l/_uFwtpYA9k9GW
https://dl.doubtnut.com/l/_uKQBuhwPo2Nu
https://dl.doubtnut.com/l/_Ix8oyPa4lDlN


Watch Video Solution

6. In the following pairs of halogen compounds, which would undergo

 reaction faster ? 

View Text Solution

SN 2

7. Predict the order of reactivity of the following compounds in  and 

 reactions : 

(i) The four isomeric bromobutanes 

(ii) 

Watch Video Solution

SN 1

SN 2

C6H5CH2Br, C6H5CH(C6H5)Br, C6H5CH(CH3)Br, C6H5C(CH3)(C6H

8. Identify chiral and achiral molecules in each of the following pair of

compounds. 

https://dl.doubtnut.com/l/_Ix8oyPa4lDlN
https://dl.doubtnut.com/l/_cAqN0uFQhR4V
https://dl.doubtnut.com/l/_07pFOgHYx0pf
https://dl.doubtnut.com/l/_WfJXAWwUmotk


Section A Questions

View Text Solution

9. Although chlorine is an electron withdrawing group, yet it is ortho - ,

paradirecting in electrophilic aromatic substitution reactions. Why ?

Watch Video Solution

1. What are haloalkanes and haloarenes ?

Watch Video Solution

2. State the uses of halogen containing organic compounds.

Watch Video Solution

https://dl.doubtnut.com/l/_WfJXAWwUmotk
https://dl.doubtnut.com/l/_lEPBNYziUdd8
https://dl.doubtnut.com/l/_uHsHXrpL87Fj
https://dl.doubtnut.com/l/_VDHqhvIrUnA3


3. Explain classification of haloalkanes and haloarenes on the basis of

number of halogen atoms.

Watch Video Solution

4. Explain classification of monohalogen compounds on the basis of

 bonds. (X = F, Cl, Br, I).

Watch Video Solution

sp3(C − X)

5. Write a note on the halogen compounds containing  bonds.

Watch Video Solution

sp2C − X

6. Explain IUPAC nomenclature for halosubstituted hydrocarbons.

Watch Video Solution

https://dl.doubtnut.com/l/_G5mKjyXxcqzb
https://dl.doubtnut.com/l/_XPYFWbJPwbt4
https://dl.doubtnut.com/l/_W4IeAWmMBkRt
https://dl.doubtnut.com/l/_qVM51IhFpJK3
https://dl.doubtnut.com/l/_DKXdKLrR0Onx


7. Explain isomerism in Haloalkanes.

Watch Video Solution

8. Explain the nature of C - X bond in alkyl halides.

Watch Video Solution

9. Given preparation of alkyl halides from alcohols.

Watch Video Solution

10. Give preparation of haloalkanes from hydrocarbons.

Watch Video Solution

11. Explain preparation of alkyl halides by halogen exchange methods.

https://dl.doubtnut.com/l/_DKXdKLrR0Onx
https://dl.doubtnut.com/l/_waqdVM5yV8ud
https://dl.doubtnut.com/l/_yXqdPAriYi2s
https://dl.doubtnut.com/l/_C3dblf1p9ofb
https://dl.doubtnut.com/l/_m0Uf74APej8V


Watch Video Solution

12. Give preparation of aryl halides from aromatic hydrocarbons.

Watch Video Solution

13. Give preparation of haloarenes from amine compounds.

Watch Video Solution

14. Write a note on physical properties of haloalkanes and haloarenes.

Watch Video Solution

15. Explain the following terms : 

Plane polarised light

Watch Video Solution

https://dl.doubtnut.com/l/_m0Uf74APej8V
https://dl.doubtnut.com/l/_Rc1yKSNzR9Xe
https://dl.doubtnut.com/l/_mpuRPfHchvPQ
https://dl.doubtnut.com/l/_Vj2WpQGJKfl0
https://dl.doubtnut.com/l/_E0pz5D2wcX4n


16. Explain the following terms : 

Optical activity

Watch Video Solution

17. Explain the following terms : 

Chirality

Watch Video Solution

18. Explain the following terms : 

Chiral centre (atom) and Achiral molecule

Watch Video Solution

https://dl.doubtnut.com/l/_E0pz5D2wcX4n
https://dl.doubtnut.com/l/_wFv7IFiH0ZmF
https://dl.doubtnut.com/l/_ns9Ov1AMCS5b
https://dl.doubtnut.com/l/_y8FAerZO0zgQ


19. Explain the following terms : 

Enantiomers

Watch Video Solution

20. Explain the following terms : 

Diastereomers

Watch Video Solution

21. Explain the following terms : 

Meso compounds

Watch Video Solution

22. Explain the following terms : 

Plane of symmetry

https://dl.doubtnut.com/l/_ZmvC5AsVY4pv
https://dl.doubtnut.com/l/_jfJc0jcgVTrP
https://dl.doubtnut.com/l/_tvN1MFxjq92w
https://dl.doubtnut.com/l/_U4VNtmzCH7Or


Watch Video Solution

23. Explain the following terms : 

Centre of symmetry

Watch Video Solution

24. Write a note on nucleophillc substitution reactions.

Watch Video Solution

25. Write a note on nucleophiles.

Watch Video Solution

26. Write a note on  mechanism.

Watch Video Solution

SN2

https://dl.doubtnut.com/l/_U4VNtmzCH7Or
https://dl.doubtnut.com/l/_Z9uxGXaCd43e
https://dl.doubtnut.com/l/_Eh4kgkOTmrbq
https://dl.doubtnut.com/l/_ciNVBfk06fZd
https://dl.doubtnut.com/l/_TwwEkz7lLb2f


27. Explain the factors favouring  reaction.

Watch Video Solution

SN2

28. Write a note on  reaction.

Watch Video Solution

SN1

29. Explain the factors affecting  reaction.

Watch Video Solution

SN1

30. Enlist the main points of difference between  and  reactions.

Watch Video Solution

SN1 SN2

https://dl.doubtnut.com/l/_TwwEkz7lLb2f
https://dl.doubtnut.com/l/_xaHJEmwk5CNk
https://dl.doubtnut.com/l/_SDX76nynsmDV
https://dl.doubtnut.com/l/_rEa5GCX1ebUd
https://dl.doubtnut.com/l/_NzwJ6ZzwwFDC


31. What is retention and inversion of configuration ? Explain with

suitable example.

Watch Video Solution

32. Explain stereochemistry of  reaction with suitable example.

Watch Video Solution

SN1

33. Explain stereochemistry of  reaction with suitable example.

Watch Video Solution

SN2

34. Explain Elimination reactions of alkyl halides.

Watch Video Solution

https://dl.doubtnut.com/l/_CVallVrdPHal
https://dl.doubtnut.com/l/_b2DfqqKGFDMB
https://dl.doubtnut.com/l/_UWPZocVN9H5L
https://dl.doubtnut.com/l/_N5lYw0EEICWv


35. Explain dehydrohalogenation (  - elimination) of alkyl halides.

Watch Video Solution

β

36. Explain how sustitution and elimination reactions compete in the

same reaction ?

Watch Video Solution

37. Write a note on Grignard Reagent.

Watch Video Solution

38. Write a note on Wurtz Reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_C3X2XOc5ujeZ
https://dl.doubtnut.com/l/_oUlre5v9GsSw
https://dl.doubtnut.com/l/_ytu3gUoszN4m
https://dl.doubtnut.com/l/_A4Uv9JAplMcg


39. Explain why aryl halides are extermely less reactive towards

nucleophilic substitution reactions.

Watch Video Solution

40. Give the reaction of hydroxyl group with chlorobenzene.

Watch Video Solution

41. Explain why the electron withdrawing groups such as  show its

effect only at o - position and p - position and not at m - positions.

Watch Video Solution

−NO2

42. Why aryl halides undergo electrophilic substitution reactions at o -

and p - position ? Why it is less reactive than benzene ?

Watch Video Solution

https://dl.doubtnut.com/l/_QlALFhDgpEK0
https://dl.doubtnut.com/l/_UGrQ6cRixmsq
https://dl.doubtnut.com/l/_ggpfVpYYgRpv
https://dl.doubtnut.com/l/_rVvAZlLvNjgb


43. Give following reaction of aryl halides : 

(i) Halogenation 

(ii) Nitration 

(iii) Sulphonation 

(iv) Friedel - crafts reaction

Watch Video Solution

44. Give reactions of aryl halides with metals.

Watch Video Solution

45. State the various uses of : 

Dichloromethane (Methylene chloride)

Watch Video Solution

https://dl.doubtnut.com/l/_rVvAZlLvNjgb
https://dl.doubtnut.com/l/_DvPU6nmmAoxt
https://dl.doubtnut.com/l/_5bH8yl5k6RfR
https://dl.doubtnut.com/l/_xTFwOypMk3mi
https://dl.doubtnut.com/l/_WOI8B0uJCkuN


46. State the various uses of : 

Trichloromethone (Chloroform)

Watch Video Solution

47. State the various uses of : 

Tri - iodomethane (Iodoform)

Watch Video Solution

48. State the various uses of : 

Tetrachloromethane (Carbon tetrachloride)

Watch Video Solution

49. State the various uses of : 

Freons

Watch Video Solution

https://dl.doubtnut.com/l/_WOI8B0uJCkuN
https://dl.doubtnut.com/l/_uueXqBnVLC7l
https://dl.doubtnut.com/l/_CtLVDvg2sOlw
https://dl.doubtnut.com/l/_vdtzSsBp6aS2


Section B Intext Questions And Answers

50. State the adverse effects of polyhalogenated compounds. How the

adverse effects of chlorofluorocarbons can be prevented ?

Watch Video Solution

51. Write a note on DDT.

Watch Video Solution

1. Write the structures of the following compounds : 

2-Chloro-3-methylentane

Watch Video Solution

https://dl.doubtnut.com/l/_vdtzSsBp6aS2
https://dl.doubtnut.com/l/_Y7Fkamqkrf5K
https://dl.doubtnut.com/l/_BpY75ocRDC5P
https://dl.doubtnut.com/l/_pe8U5YoOvDkw


2. Write the structures of the following compounds : 

1-Chloro-4-ethylcyclohexane

Watch Video Solution

3. Write the structures of the following compounds : 

4-tert, Butyl-3-iodoheptane

Watch Video Solution

4. Write the structures of the following compounds : 

1,4 -Dibromobut-2-ene

Watch Video Solution

5. Write the structures of the following compounds : 

1-bromo-4-sec, butyl-2-methylbenzene

https://dl.doubtnut.com/l/_57DFcsuJxFky
https://dl.doubtnut.com/l/_FRrJEDdaVQo3
https://dl.doubtnut.com/l/_lSkUrub3zj3u
https://dl.doubtnut.com/l/_vadEWPLef6MB


Watch Video Solution

6. Why is Sulphuric acid not used during the reaction of alcohols with KI ?

Watch Video Solution

7. Write structures of different dihalogen derivatives of propane.

Watch Video Solution

8. Among the isomeric alkanes of molecular formula , identify the

one that on photochemical chlorination yields. 

(i) A single monochloride 

(ii) Three isomeric monochlorides 

(iii) Four isomeric monochlorides

Watch Video Solution

C5H12

https://dl.doubtnut.com/l/_vadEWPLef6MB
https://dl.doubtnut.com/l/_ynsjP9ZtFvud
https://dl.doubtnut.com/l/_27GLpGytlQOB
https://dl.doubtnut.com/l/_oYi8e5RtTY1F
https://dl.doubtnut.com/l/_CnhYKTkoNpjj


9. Draw the structures of major monohalo products in each of the

following reactions : 

Watch Video Solution

10. Draw the structures of major monohalo products in each of the

following reactions : 

Watch Video Solution

https://dl.doubtnut.com/l/_CnhYKTkoNpjj
https://dl.doubtnut.com/l/_8mXRQrfMr3I0


11. Draw the structures of major monohalo products in each of the

following reactions : 

Watch Video Solution

12. Draw the structures of major monohalo products in each of the

following reactions : 

Watch Video Solution

https://dl.doubtnut.com/l/_Jh7J6oe1qHGF
https://dl.doubtnut.com/l/_uQg3rdEbyxxh


13. Draw the structures of major monohalo products in each of the

following reactions : 

Watch Video Solution

CH3CH2Br + NaI →

14. Draw the structures of major monohalo products in each of the

following reactions : 

Watch Video Solution

15. Arrange the following set of compounds in order of increasing boiling

points 

https://dl.doubtnut.com/l/_Q7z6RhhBiAGQ
https://dl.doubtnut.com/l/_s142wWXvv5sN
https://dl.doubtnut.com/l/_nKdMicDFiYym


(i) Bromomethane, Bromoform, Chloromethane, Dibromomethane 

(ii) 1-Chloropropane, Isopropylchloride, 1-Chlorobutane.

Watch Video Solution

16. Which alkyl halide from the following pairs would you expect to react

more rapidly by an  mechanism ? Explain your answer. 

(i)  OR  

(ii)  OR  

(iii)  OR 

Watch Video Solution

SN2

CH3CH2CH2CH2Br CH3CH2C 
| 

Br

HCH3

CH3CH2C 
| 

Br

HCH3 H3C −

CH3

|  

C 
|  

CH3

− Br

CH3C 
|  

CH3

HCH2CH2Br CH3CH2C 
|  

CH3

HCH2Br

17. In the following pairs of halogen compounds, which compound

undergoes faster  reaction ? SN1

https://dl.doubtnut.com/l/_nKdMicDFiYym
https://dl.doubtnut.com/l/_qvpBqG5jKRjR
https://dl.doubtnut.com/l/_cI11MItNAcrF


Watch Video Solution

18. Identify A, B, C, D, E, R and  in the following : 

Watch Video Solution

R1

19. Identify A, B, C, D, E, R and  in the following : 

Watch Video Solution

R1

R − Br + Mg
 dry ether 

−−−−−−→ C
D2O
−−→ CH3 − C

|

D

H − CH3

https://dl.doubtnut.com/l/_cI11MItNAcrF
https://dl.doubtnut.com/l/_YsuQLQqpO4ky
https://dl.doubtnut.com/l/_Ldyoj3ZsYPri
https://dl.doubtnut.com/l/_uYlWmjw6pMwy


Section C Textual Exercise

20. Identify A, B, C, D, E, R and  in the following : 

Watch Video Solution

R1

1. Name the following halides according to IUPAC system and classify

them as alkyl, allyl, benzyl (primary, secondary, tertiary), vinyl or aryl

halides : 

Watch Video Solution

(CH3)2CHCH(Cl)CH3

2. Name the following halides according to IUPAC system and classify

them as alkyl, allyl, benzyl (primary, secondary, tertiary), vinyl or aryl

https://dl.doubtnut.com/l/_uYlWmjw6pMwy
https://dl.doubtnut.com/l/_XJVMECmxHjV9
https://dl.doubtnut.com/l/_jnUnTFgyy0fE


halides : 

Watch Video Solution

CH3CH2CH(CH3)CH(C2H5)Cl

3. Name the following halides according to IUPAC system and classify

them as alkyl, allyl, benzyl (primary, secondary, tertiary), vinyl or aryl

halides : 

Watch Video Solution

CH3CH2C(CH3)2CH2I

4. Name the following halides according to IUPAC system and classify

them as alkyl, allyl, benzyl (primary, secondary, tertiary), vinyl or aryl

halides : 

Watch Video Solution

(CH3)3CCH2CH(Br)C6H5

https://dl.doubtnut.com/l/_jnUnTFgyy0fE
https://dl.doubtnut.com/l/_Pa6qRmgNHL4s
https://dl.doubtnut.com/l/_Cm7RylUzIVEt
https://dl.doubtnut.com/l/_D9ajiTm95FoU


5. Name the following halides according to IUPAC system and classify

them as alkyl, allyl, benzyl (primary, secondary, tertiary), vinyl or aryl

halides : 

Watch Video Solution

CH3CH(CH3)CH(Br)CH3

6. Name the following halides according to IUPAC system and classify

them as alkyl, allyl, benzyl (primary, secondary, tertiary), vinyl or aryl

halides : 

Watch Video Solution

CH3C(C2H5)2CH2Br

7. Name the following halides according to IUPAC system and classify

them as alkyl, allyl, benzyl (primary, secondary, tertiary), vinyl or aryl

halides : 

CH3C(Cl)(C2H5)CH2CH3

https://dl.doubtnut.com/l/_D9ajiTm95FoU
https://dl.doubtnut.com/l/_UToJbIqWZ67L
https://dl.doubtnut.com/l/_oX5CcL9PAn3R


Watch Video Solution

8. Name the following halides according to IUPAC system and classify

them as alkyl, allyl, benzyl (primary, secondary, tertiary), vinyl or aryl

halides : 

Watch Video Solution

CH3CH = C(Cl)CH2CH(CH3)2

9. Name the following halides according to IUPAC system and classify

them as alkyl, allyl, benzyl (primary, secondary, tertiary), vinyl or aryl

halides : 

Watch Video Solution

CH3CH = CHC(Br)(CH3)2

10. Name the following halides according to IUPAC system and classify

them as alkyl, allyl, benzyl (primary, secondary, tertiary), vinyl or aryl

https://dl.doubtnut.com/l/_oX5CcL9PAn3R
https://dl.doubtnut.com/l/_lRSM5RbkPHED
https://dl.doubtnut.com/l/_IvSC77ehQYkr
https://dl.doubtnut.com/l/_PFkW8ueiHW99


halides : 

Watch Video Solution

p − ClC6H4CH2CH(CH3)2

11. Name the following halides according to IUPAC system and classify

them as alkyl, allyl, benzyl (primary, secondary, tertiary), vinyl or aryl

halides : 

Watch Video Solution

m − ClCH2C6H4CH2C(CH3)3

12. Name the following halides according to IUPAC system and classify

them as alkyl, allyl, benzyl (primary, secondary, tertiary), vinyl or aryl

halides : 

Watch Video Solution

o − Br − C6H4CH(CH3)CH2CH3

https://dl.doubtnut.com/l/_PFkW8ueiHW99
https://dl.doubtnut.com/l/_VglJb9YUyVDd
https://dl.doubtnut.com/l/_1JcYZ6oKW1hu
https://dl.doubtnut.com/l/_OvvGF21Yq4ji


13. Give the IUPAC names of the following compounds : 

Watch Video Solution

CH3CH(Cl)CH(Br)CH3

14. Give the IUPAC names of the following compounds : 

Watch Video Solution

CHF2CBrClF

15. Give the IUPAC names of the following compounds : 

Watch Video Solution

ClCH2C ≡ CCH2Br

16. Give the IUPAC names of the following compounds : 

Watch Video Solution

(CCl3)3CCl

https://dl.doubtnut.com/l/_OvvGF21Yq4ji
https://dl.doubtnut.com/l/_0OQQdoIhjTvO
https://dl.doubtnut.com/l/_KOXTZ50StVoY
https://dl.doubtnut.com/l/_ZxaqniyvpgAL


Watch Video Solution

17. Give the IUPAC names of the following compounds : 

Watch Video Solution

CH3C(p − ClC6H4)2CH(Br)CH3

18. Give the IUPAC names of the following compounds : 

Watch Video Solution

(CH3)3CCH = CClC6H4I − p

19. Write the structures of the following organic halogen compounds. 

2-Chloro-3-methylpentane

Watch Video Solution

https://dl.doubtnut.com/l/_ZxaqniyvpgAL
https://dl.doubtnut.com/l/_BttKPlHDlps7
https://dl.doubtnut.com/l/_uIFseYtPlnJN
https://dl.doubtnut.com/l/_0cPAc2iU6sQB


20. Write the structures of the following organic halogen compounds. 

p-Bromochlorobenzene

Watch Video Solution

21. Write the structures of the following compounds : 

1-Chloro-4-ethylcyclohexane

Watch Video Solution

22. Write the structures of the following organic halogen compounds. 

2-(2-Chlorophenyl)-1-iodooctane

Watch Video Solution

23. Write the structures of the following organic halogen compounds. 

2-Bromobutane

https://dl.doubtnut.com/l/_JuWpqZR5kSDD
https://dl.doubtnut.com/l/_haw9Rw9eklWE
https://dl.doubtnut.com/l/_1HdW0GAAJus5
https://dl.doubtnut.com/l/_dxmtKTbx3M4H


Watch Video Solution

24. Write the structures of the following compounds : 

4-tert, Butyl-3-iodoheptane

Watch Video Solution

25. Write the structures of the following compounds : 

1-bromo-4-sec, butyl-2-methylbenzene

Watch Video Solution

26. Write the structures of the following compounds : 

1,4 -Dibromobut-2-ene

Watch Video Solution

https://dl.doubtnut.com/l/_dxmtKTbx3M4H
https://dl.doubtnut.com/l/_ijZoawHNJtXe
https://dl.doubtnut.com/l/_tJMU0dZCpOyP
https://dl.doubtnut.com/l/_AJLW8v2hSrVB


27. Which of the following has highest dipole moment:

Watch Video Solution

28. A hydrocarbon  does not react with chlorine in dark but give a

single monochloro compound  in bright sunligh. Identify the

hydrocarbon.

Watch Video Solution

C5H10

C5H9Cl

29. Write the isomers of the compound having formula .

Watch Video Solution

C4H9Br

30. Write the equations for the preparation of 1 - iodobutane from 

(i) 1-butanol (ii) 1-chlorobutane (iii) but-1-ene.

Watch Video Solution

https://dl.doubtnut.com/l/_ljkUan6phGaF
https://dl.doubtnut.com/l/_ZyKLsWBlZj75
https://dl.doubtnut.com/l/_RuNfbOSDcYtO
https://dl.doubtnut.com/l/_eTFfUtZce6tY


31. What are ambident nucleophiles ? Explain with an example.

Watch Video Solution

32. Which compound in each of the following pairs will react faster in

 reaction with  ? 

(i)  or  

(ii)  or 

Watch Video Solution

SN2 ΘOH

CH3Br CH3I

(CH3)3CCl CH3Cl

33. Predict all the alkenes that would be formed by dehydrohalogenation

of the following halides with sodium ethoxide in ethanol and identify the

major alkene : 

(i) 1-Bromo-1-methylcyclohexane 

(ii) 2-Chloro-2-methylbutane 

(iii) 2,2,3-Trimethyl-3-bromopentane.

https://dl.doubtnut.com/l/_eTFfUtZce6tY
https://dl.doubtnut.com/l/_yNTNf6oZT4ry
https://dl.doubtnut.com/l/_HtpsFPZt5zdv
https://dl.doubtnut.com/l/_tQiJglOkwu0m


Watch Video Solution

34. How will you bring about the following conversions ? 

Ethanol to but-1-yne

Watch Video Solution

35. How will you bring about the following conversions ? 

Ethane to bromoethene

Watch Video Solution

36. How will you bring about the following conversions ? 

Propene to 1-nitropropane

Watch Video Solution

https://dl.doubtnut.com/l/_tQiJglOkwu0m
https://dl.doubtnut.com/l/_2ef2XRJ9zkEb
https://dl.doubtnut.com/l/_vRHA2wgClFTT
https://dl.doubtnut.com/l/_eB6AkYqpSp0C


37. How will you bring about the following conversions ? 

Toluene to benzyl alcohol

Watch Video Solution

38. How will you bring about the following conversions ? 

Propene to propyne

Watch Video Solution

39. How will you bring about the following conversions ? 

Ethanol to ethyl fluoride

Watch Video Solution

40. How will you bring about the following conversions ? 

Bromomethane to propanone

https://dl.doubtnut.com/l/_UG45ZXguTLmO
https://dl.doubtnut.com/l/_25SiUw77zs0U
https://dl.doubtnut.com/l/_ZZ4BGJ6kvyHN
https://dl.doubtnut.com/l/_eiiqGUkJ8hWf


Watch Video Solution

41. How will you bring about the following conversions ? 

But-1-ene to but-2-ene

Watch Video Solution

42. How will you bring about the following conversions ? 

1-Chlorobutane to n-octane

Watch Video Solution

43. How will you bring about the following conversions ? 

Benzene to biphenyl.

Watch Video Solution

https://dl.doubtnut.com/l/_eiiqGUkJ8hWf
https://dl.doubtnut.com/l/_UCdTFswpV332
https://dl.doubtnut.com/l/_xc9MAH1ZTv7l
https://dl.doubtnut.com/l/_VqhEj6hJJ0XC


44. Explain why : 

The dipole moment of chlorobenzene is lower than that of cyclohexyl

chloride ?

Watch Video Solution

45. Explain why : 

Alkyl halides, though polar, are immiscible with water ?

Watch Video Solution

46. Explain why : 

Grignard reagents should be prepared under anhydrous conditions ?

Watch Video Solution

47. Give the uses of freon 12, DDT, carbon tetrachloride and iodoform.

https://dl.doubtnut.com/l/_vQKMmWBFTiPj
https://dl.doubtnut.com/l/_rQYAJrhevMEy
https://dl.doubtnut.com/l/_zzuVLF7v7X5d
https://dl.doubtnut.com/l/_6Fr4WAGXRGnE


Watch Video Solution

48. Write the structure of the major organic product in each of the

following reactions : 

Watch Video Solution

CH3CH2CH2Cl + NaI +
 acetone 

−−−−−→
 heat 

49. Write the structure of the major organic product in each of the

following reactions : 

Watch Video Solution

(CH3)3CBr + KOH
 ethanol 

−−−−−→
 heat 

50. Write the structure of the major organic product in each of the

following reactions : 

Watch Video Solution

CH3CH(Br)CH2CH3 + NaOH
 water 

−−−−→

https://dl.doubtnut.com/l/_6Fr4WAGXRGnE
https://dl.doubtnut.com/l/_N3ARJgPcZj6B
https://dl.doubtnut.com/l/_ofYxGgNqp2P2
https://dl.doubtnut.com/l/_ktBmMPUH3riK


51. Write the structure of the major organic product in each of the

following reactions : 

Watch Video Solution

CH3CH2Br + KCN
 aq. ethanol

−−−−−−→

52. Write the structure of the major organic product in each of the

following reactions : 

Watch Video Solution

C6H5ONa + C2H5Cl →

53. Write the structure of the major organic product in each of the

following reactions : 

Watch Video Solution

CH3CH2CH2OH + SOCl2 →

https://dl.doubtnut.com/l/_ktBmMPUH3riK
https://dl.doubtnut.com/l/_BpFkVWwL0hFK
https://dl.doubtnut.com/l/_2KSY9nh4EyOc
https://dl.doubtnut.com/l/_LAF9HSekwIrO


54. Write the structure of the major organic product in each of the

following reactions : 

Watch Video Solution

CH3CH2CH = CH2 + HBr
 peroxide 

−−−−−−→

55. Write the structure of the major organic product in each of the

following reactions : 

Watch Video Solution

CH3CH = C(CH3)2 + HBr →

56. Write the mechanism of the following reaction :

Watch Video Solution

nBuBr + KCN
EtOH −H2O

− nBuCN

https://dl.doubtnut.com/l/_LAF9HSekwIrO
https://dl.doubtnut.com/l/_nFs0z4ajQxwI
https://dl.doubtnut.com/l/_FgdFYWgN9OGw
https://dl.doubtnut.com/l/_0qBjykhNrZ4r


57. Arrange the compounds of each set in order of reactivity towards 

displacement : 

(i) 2- Bromo-2-methylbutane, 1-Bromopentane, 2-Bromopentane 

(ii) 1-Bromo-3-methylbutane, 2-Bromo-2-methylbutane, 2-Bromo-3-

methylbutane 

(iii) 1-Bromobutane, 1-Bromo-2, 

2-dimethylpropane, 

1-Bromo-2-methylbutane, 

1-Bromo-3-methylbutane.

Watch Video Solution

SN2

58. Out of  and , which is more easily

hydrolysed by aqueous KOH.

Watch Video Solution

C6H5CH2Cl C6H5CHClC6H5

https://dl.doubtnut.com/l/_q1SdhR5Bl1u9
https://dl.doubtnut.com/l/_VWFM7p5C4Zmq


59. p-Dichlorobenzene has higher m.p. than those of o-and m-isomers.

Discuss.

Watch Video Solution

60. How the following conversions can be carried out ? 

Propene to propan-1-ol

Watch Video Solution

61. How will you bring about the following conversions ? 

Ethanol to but-1-yne

Watch Video Solution

62. How the following conversions can be carried out ? 

1-Bromopropane to 2-bromopropane

https://dl.doubtnut.com/l/_tjhDv4HFnZvZ
https://dl.doubtnut.com/l/_iFqzWrpE4vvb
https://dl.doubtnut.com/l/_WvQym0DMI3Y9
https://dl.doubtnut.com/l/_6DeL5NCEEj5J


Watch Video Solution

63. How will you bring about the following conversions ? 

Toluene to benzyl alcohol

Watch Video Solution

64. How the following conversions can be carried out ? 

Benzene to 4-bromonitrobenzene

Watch Video Solution

65. How the following conversions can be carried out ? 

Benzyl alcohol to 2-phenylethanoic acid

Watch Video Solution

https://dl.doubtnut.com/l/_6DeL5NCEEj5J
https://dl.doubtnut.com/l/_zI1mAFqSP6Xm
https://dl.doubtnut.com/l/_8CyJ63kKKPJd
https://dl.doubtnut.com/l/_n7YjAXktsOOS


66. How the following conversions can be carried out ? 

Ethanol to propanenitrile

Watch Video Solution

67. How the following conversions can be carried out ? 

Aniline to chlorobenzene

Watch Video Solution

68. How the following conversions can be carried out ? 

2-Chlorobutane to 3,4 - dimethylhexane

Watch Video Solution

69. How the following conversions can be carried out ? 

2-Methyl-1-propene to 2-chloro-2-methyl-propane

https://dl.doubtnut.com/l/_DAsYkVHeKPJf
https://dl.doubtnut.com/l/_f5APlRdV0jc7
https://dl.doubtnut.com/l/_yWyJam2wzwVC
https://dl.doubtnut.com/l/_H6SK1WXOkgjU


Watch Video Solution

70. How the following conversions can be carried out ? 

Ethyl chloride to propanoic acid

Watch Video Solution

71. How the following conversions can be carried out ? 

But -1-ene to n-butyliodide

Watch Video Solution

72. How the following conversions can be carried out ? 

2-Chloropropane to 1-propanol

Watch Video Solution

https://dl.doubtnut.com/l/_H6SK1WXOkgjU
https://dl.doubtnut.com/l/_nELlfPr1KFp1
https://dl.doubtnut.com/l/_0BFg4uwNiKz4
https://dl.doubtnut.com/l/_zTj667fxJxgv


73. How the following conversions can be carried out ? 

Isopropyl alcohol to iodoform

Watch Video Solution

74. How the following conversions can be carried out ? 

Chlorobenzene to p - nitrophenol

Watch Video Solution

75. How the following conversions can be carried out ? 

2-Bromopropane to 1-bromopropane

Watch Video Solution

76. How the following conversions can be carried out ? 

Chloroethane to butane

https://dl.doubtnut.com/l/_Da3FrjMa2D8r
https://dl.doubtnut.com/l/_nMN90FQtiOtW
https://dl.doubtnut.com/l/_EpAa8KN3V78g
https://dl.doubtnut.com/l/_8I5RJ549gWC9


Watch Video Solution

77. How will you bring about the following conversions ? 

Benzene to biphenyl.

Watch Video Solution

78. How the following conversions can be carried out ? 

tert-Butyl bromide to isobutyl bromide

Watch Video Solution

79. How the following conversions can be carried out ? 

Aniline to phenylisocyanide

Watch Video Solution

https://dl.doubtnut.com/l/_8I5RJ549gWC9
https://dl.doubtnut.com/l/_e2m6XvKSTW9X
https://dl.doubtnut.com/l/_oVJEtIUy9E8R
https://dl.doubtnut.com/l/_0gSW2WXv0rWE


80. The treatment of alkyl chlorides with aqueous KOH leads to the

formation of alcohols but in the presence of alcoholic KOH, alkenes are

major products. Explain.

Watch Video Solution

81. Primary alkyl halide  (a) reacted with alcoholic KOH to give

compound (b). Compound (b) is reacted with HBr to give (c ) which is an

isomer of (a). When (a) is reacted with sodium metal it gives compound

(d),  which is different from the compound formed when n-butyl

bromide is reacted with sodium. Give the structural formula of (a) and

write the equations for all the reactions.

Watch Video Solution

C4H9Br

C8H18

82. What happens when 

n-butyl chloride is treated with alcoholic KOH,

Watch Video Solution

https://dl.doubtnut.com/l/_rc7FrITpsjlR
https://dl.doubtnut.com/l/_Ms3lFWVwRH6S
https://dl.doubtnut.com/l/_Ye0WxIT4XbpQ


Watch Video Solution

83. What happens when 

bromobenzene is treated with Mg in the presence of dry ether,

Watch Video Solution

84. What happens when 

chlorobenzene is subjected to hydrolysis,

Watch Video Solution

85. What happens when 

ethyl chloride is treated with aqueous KOH,

Watch Video Solution

https://dl.doubtnut.com/l/_Ye0WxIT4XbpQ
https://dl.doubtnut.com/l/_a62wZ6CLu1yP
https://dl.doubtnut.com/l/_pijpW25Xtn0P
https://dl.doubtnut.com/l/_e30BpP4749tU


Section D Ncert Exemplar Solution Multiple Choice Questions

86. What happens when 

methyl bromide is treated with sodium in the presence of dry ether,

Watch Video Solution

87. What happens when 

methyl chloride is treated with KCN ?

Watch Video Solution

1. The order of reactivity of following alcohols with halogen acids is ……… 

(A)  

(B)  

(C ) 

CH3CH2 − CH2 − OH

CH3CH2 − C 
|  

CH3

H − OH

CH3CH2 −

CH3

|  

C  
|  

CH3

− OH

https://dl.doubtnut.com/l/_hWaCD2Yq6BCe
https://dl.doubtnut.com/l/_qDQkWl3Oof34
https://dl.doubtnut.com/l/_Lm5dfPb8KF2S


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(A) > (B) > (C)

(C) > (B) > (A)

(B) > (A) > (C)

(A) > (C) > (B)

2. Which of the following alcohols will yield the corresponding alkyl

chlride on reaction with concentrated HCl at room temperature ?

A. 

B. 

C. 

D. 

CH3CH2 − CH2 − OH

CH3CH2 − C 
|  

CH3

H − OH

CH3CH2 − C 
|  

CH3

H − CH2OH

CH3CH2 −

CH3

|  

C  
| 

CH3

− OH

https://dl.doubtnut.com/l/_Lm5dfPb8KF2S
https://dl.doubtnut.com/l/_Fe6rdYQyHFLm


Answer: D

Watch Video Solution

3. Identify the compound Y in the following reaction. 

A. 

B. 

https://dl.doubtnut.com/l/_Fe6rdYQyHFLm
https://dl.doubtnut.com/l/_96tIAoaBUpEm


C. 

D. 

Answer: A

Watch Video Solution

4. Toluene reacts with a halogen in the presence of iron (III) chloride

giving ortho and para halo compounds. The reaction is

https://dl.doubtnut.com/l/_96tIAoaBUpEm
https://dl.doubtnut.com/l/_ESEGne3dslce


A. Electrophilic elimination reaction

B. Electrophilic substitution reaction

C. Free radical addition reaction

D. Nucleophilic substitution reaction

Answer: B

Watch Video Solution

5. Which of the following is halogen exchange reaction ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

RX + NaI → RI + NaX

R − OH + HX
ZnCl2
−−−→ R − X + H2O

https://dl.doubtnut.com/l/_ESEGne3dslce
https://dl.doubtnut.com/l/_1KKwqgX7U8wq


6. Which reagent will you use for the following reaction ?

A.  light

B. 

C.  gas in dark

D.  gas in the presence of iron in dark

Answer: A

Watch Video Solution

CH3CH2CH2CH3 → CH3CH2CH2CH2Cl + CH3CH2CHClCH3

Cl2 /UV

NaCl + H2SO4

Cl2

Cl2

7. Arrange the following compounds in the increasing order of their

densities. 

https://dl.doubtnut.com/l/_1KKwqgX7U8wq
https://dl.doubtnut.com/l/_Omxcctq7OSxk
https://dl.doubtnut.com/l/_mMt78HhFUb81


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(i) < (ii) < (iii) < (iv)

(i) < (iii) < (iv) < (ii)

(iv) < (iii) < (ii) < (i)

(ii) < (iv) < (iii) < (i)

8. Arrange the following compounds in increasing order of their boiling

points. 

https://dl.doubtnut.com/l/_mMt78HhFUb81
https://dl.doubtnut.com/l/_IaoUvx86O276


(i)  

(ii)  

(iii) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH2CH2CH2Br

H3C −

CH3

|  

C 
| 

Br 

− CH3

(ii) < (i) < (iii)

(i) < (ii) < (iii)

(iii) < (i) < (ii)

(iii) < (ii) < (i)

9. In which of the following molecules carbon atom marked with asterisk

(*) is asymmetric ? 

https://dl.doubtnut.com/l/_IaoUvx86O276
https://dl.doubtnut.com/l/_zqV3KzDAg8qf


A. (i), (ii), (iii), (iv)

B. (i), (ii), (iii)

C. (ii), (iii), (iv)

D. (i), (iii), (iv)

Answer: B

Watch Video Solution

10. Which of the following structures is enantiomeric with the molecule

(A) given below : 

https://dl.doubtnut.com/l/_zqV3KzDAg8qf
https://dl.doubtnut.com/l/_H1WIL7KBrfGD


A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_H1WIL7KBrfGD


Answer: A

Watch Video Solution

11. Which of the following is an example of vicdihalide ?

A. Dichloromethane

B. 1,2 - dichloroethane

C. Ethylidene chloride

D. Allyl chloride

Answer: B

Watch Video Solution

12. The position of -Br in the compound in 

can be classified as ……………..

CH3CH = CHC(Br)(CH3)2

https://dl.doubtnut.com/l/_H1WIL7KBrfGD
https://dl.doubtnut.com/l/_rQSUvtFh79qv
https://dl.doubtnut.com/l/_XDDOweeAEadu


A. Allyl

B. Aryl

C. Vinyl

D. Secondary

Answer: A

Watch Video Solution

13. Chlorobenzene is formed by reaction of chlorine with benzene in the

presence of . Which of the following species attacks the benzene

ring in this reaction ?

A. 

B. 

C. 

D. 

AlCl3

Cl−

Cl+

AlCl3

[AlCl4] −

https://dl.doubtnut.com/l/_XDDOweeAEadu
https://dl.doubtnut.com/l/_GHZEJrkjQ5Wy


Answer: B

Watch Video Solution

14. Ethylidene chloride is a/an ……….. .

A. vic-dihalide

B. gem-dihalide

C. allylic halide

D. vinylic halide

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GHZEJrkjQ5Wy
https://dl.doubtnut.com/l/_RycgDeEm07Ea


15. What is 'A' in the following reaction ? 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_nhyg9qzdx3FN


Answer: C

Watch Video Solution

16. A primary alkyl halide would prefer to undergo :-

A.  reaction

B.  reaction

C.  - Elimination

D. Racemisation

Answer: B

Watch Video Solution

SN1

SN2

α

17. Which of the following alkyl halides will undergo  reaction most

readily ?

SN1

https://dl.doubtnut.com/l/_nhyg9qzdx3FN
https://dl.doubtnut.com/l/_jlK8wMo2RCJu
https://dl.doubtnut.com/l/_4AMBZlwBuQt5


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(CH3)3C − F

(CH3)3C − Cl

(CH3)3C − Br

(CH3)3C − I

18. Which is the correct IUPAC name for  ?

A. 1-Bromo-2-ethylpropane

B. 1-Bromo-2-ethyl-2-methylethane

C. 1-Bromo-2-methylbutane

D. 2-Methyl-1-bromobutane

Answer: C

Watch Video Solution

CH3 − C  
|   

C2H5

H − CH2 − Br

https://dl.doubtnut.com/l/_4AMBZlwBuQt5
https://dl.doubtnut.com/l/_E9Ln1XrCI8pl


Watch Video Solution

19. What should be the correct IUPAC name for diethylbromomethane ?

A. 1-Bromo-1,1-diethylmethane

B. 3-Bromopentane

C. 1-Bromo-1-ethylpropane

D. 1-Bromopentane

Answer: B

Watch Video Solution

20. The reaction of toluene with chlorine in the presence of iron and in

the absence of light yields …….. .

A. 

https://dl.doubtnut.com/l/_E9Ln1XrCI8pl
https://dl.doubtnut.com/l/_Bec6Jjmd2WAe
https://dl.doubtnut.com/l/_9A0LtE2Z8kZo


B. 

C. 

D. Mixture of (B) and (C )

Answer: D

Watch Video Solution

21. Chloromethane on treatment with excess of ammonia yields mainly

A. N, N - Dimethylmethanamine 

B. N-methylmethanamine 

C. Methanamine 

D. Mixture containing all these in equal proportion

(CH3 − NH − CH3)

(CH3NH2)

https://dl.doubtnut.com/l/_9A0LtE2Z8kZo
https://dl.doubtnut.com/l/_VOrmm8gXpBoz


Answer: C

Watch Video Solution

22. Molecules whose mirror image is non-superimposable over them are

known as chiral. Which of the following molecules is chiral in nature ?

A. 2-Bromobutane

B. 1-Bromobutane

C. 2-Bromopropane

D. 2-Bromopropane-2-ol

Answer: A

Watch Video Solution

23. Reaction of  with aqueous sodium hydroxide follows

………..

C6H5CH2Br

https://dl.doubtnut.com/l/_VOrmm8gXpBoz
https://dl.doubtnut.com/l/_lWL72GLoykTU
https://dl.doubtnut.com/l/_khoT1B7fFEFm


A.  mechanism

B.  mechanism

C. Any of the above two depending upon the temperature of reaction.

D. Saytzeff rule

Answer: A

Watch Video Solution

SN1

SN2

24. Which of the carbon atoms present in the molecule given below are

asymmetric ? 

A. 1,2,3,4

B. 2,3

https://dl.doubtnut.com/l/_khoT1B7fFEFm
https://dl.doubtnut.com/l/_t5azBsrQz1dU


C. 1,4

D. 1,2,3

Answer: B

Watch Video Solution

25. Which of the following compounds will give racemic mixture on

nucleophilic substitution by  ion ? 

(i)  

 

(iii) 

A. (i)

B. (i),(ii) and (iii)

C. (ii) and (iii)

D. (i) and (ii)

OH −

CH2 − C 
|  

C2H5

H − Br

CH3 −

Br 
|  

C 
|   

C2H5

− CH3

CH2 − C 
|  

C2H5

H − CH2Br

https://dl.doubtnut.com/l/_t5azBsrQz1dU
https://dl.doubtnut.com/l/_8wRi5iSD0ykt


Answer: A

Watch Video Solution

26. 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

(i) < (ii) < (iii)

(iii) < (ii) < (i)

(i) < (iii) < (ii)

(iii) < (i) < (ii)

https://dl.doubtnut.com/l/_8wRi5iSD0ykt
https://dl.doubtnut.com/l/_MiKT7k9YlodH


27. 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

(i) < (ii) < (iii)

(i) < (iii) < (ii)

(iii) < (ii) < (i)

(ii) < (iii) < (i)

28. 

A. (iii) < (ii) < (i)

https://dl.doubtnut.com/l/_jUrWzoTR5ajs
https://dl.doubtnut.com/l/_wgrEKPHSZt8C


B. 

C. 

D. 

Answer: D

View Text Solution

(ii) < (iii) < (i)

(i) < (iii) < (i)

(i) < (ii) < (iii)

29. 

A. 

B. 

C. 

D. 

Answer: C

(i) < (ii) < (iii)

(ii) < (i) < (iii)

(iii) < (ii) < (ii)

(i) < (iii) < (ii)

https://dl.doubtnut.com/l/_wgrEKPHSZt8C
https://dl.doubtnut.com/l/_9fFXxSBgL4O6


View Text Solution

30. Which is the correct increasing order of boiling points of the

following compounds ? 

1-Iodobutane, 1-Bromobutane, 1-Chlorobutane, Butane

A. Butane  1-Chlorobutane  1-Bromobutane  1-Iodobutane

B. 1-Iodobutane  1-Bromobutane  1-Chlorobutane  Butane

C. Butane  1-Iodobutane  1-Bromobutane  1-Chlorobutane

D. Butane  1-Chlorobutane  1- Iodobutane  1-Bromobutane

Answer: A

Watch Video Solution

< < <

< < <

< < <

< < <

31. Which is the correct increasing order of boiling points of the following

compounds ? 

1-Bromoethane, 1-Bromopropane, 1-Bromobutane, Bromobenzene

https://dl.doubtnut.com/l/_9fFXxSBgL4O6
https://dl.doubtnut.com/l/_vVjnHy8tem44
https://dl.doubtnut.com/l/_rS6m2ETrJtED


A. Bromobenzene  1-Bromobutane  1-Bromopropapne  1-

Bromoethane

B. Bromobenzene  1-Bromoethane  1-Bromopropane  1-

Bromobutane

C. 1-Bromopropane  1-Bromobutane  1-Bromoethane 

Bromobenzene

D. 1-Bromoethane  1-Bromopropane  1-Bromobutane 

Bromobenzene

Answer: D

Watch Video Solution

< < <

< < <

< < <

< < <

32.  

Which of the statements are correct about above reaction ?

https://dl.doubtnut.com/l/_rS6m2ETrJtED
https://dl.doubtnut.com/l/_BDEd9YSBkCT3


A. (i) and (v) both are nucleophiles.

B. In (iii) carbon atom is  hybridized.

C. In (iii) carbon atom is  hybridized.

D. (i) and (v) both are electrophiles.

Answer: A::C

Watch Video Solution

sp3

sp2

33.  

Which of the following statements are correct about this reaction ?

A. The given reaction follows  mechanism.

B. (ii) and (iv) have opposite configuration.

C. (ii) and (iv) have same configuration.

D. The given reaction follows  mechanism.

SN2

SN1

https://dl.doubtnut.com/l/_BDEd9YSBkCT3
https://dl.doubtnut.com/l/_WfXwXlTxqGuv


Answer: A::B

Watch Video Solution

34.  

Which of the following statements are correct about the reaction

intermediate ?

A. Intermediate (iii) is unstable because in this carbon is attached to 5

atoms.

B. Intermediate (iii) is unstable because carbon atom is  hybridised.

C. Intermediate (iii) is stable because carbon atom is  hybridised.

D. Intermediate (iii) is less stable than the reactant (ii).

Answer: A::D

Watch Video Solution

sp2

sp2

https://dl.doubtnut.com/l/_WfXwXlTxqGuv
https://dl.doubtnut.com/l/_yTrl30sF93jV


35.  

Which of the following statements are correct about the mechanism of

this reaction ?

A. A carbocation will be formed as an intermediate in the reaction.

B.  will attach the substrate (ii) from one side and  will leave

it simultaneously from other side.

C. An unstable intermediate will be formed in which  and 

will be attached by weak bonds.

D. Reaction proceeds through  mechanism.

Answer: A::D

Watch Video Solution

OH − Cl−

OH − Cl−

SN1

https://dl.doubtnut.com/l/_yTrl30sF93jV
https://dl.doubtnut.com/l/_iuLpaZO0DvVd
https://dl.doubtnut.com/l/_ovpKH0W78TUA


36.  

Which of the following statements are correct about the kinetics of this

reaction ?

A. The rate of reaction depends on the concentration of only (ii)

B. The rate of reaction depends on concentration of both (i) and (ii)

C. Molecularity of reaction is one

D. Molecularity of reaction is two

Answer: A::C

Watch Video Solution

37. Haloalkanes contain halogen atom(s) attached to the  hybridised

carbon atom of an alkyl group. Identify haloalkane from following

compounds.

sp3

https://dl.doubtnut.com/l/_ovpKH0W78TUA
https://dl.doubtnut.com/l/_bB3AC7FIH1Eb


A. 2-Bromopentane

B. Vinyl chloride (chloroethene)

C. 2-chloroacetophenone

D. Trichloromethane

Answer: A::D

Watch Video Solution

38. Ethylene chloride and ethylidene chloride are isomers. Identify the

correct statements.

A. Both the compounds form same product on treatment with

alcoholic KOH.

B. Both the compounds form same product on treatment with aq.

NaOH.

C. Both the compounds form same product on reduction.

https://dl.doubtnut.com/l/_bB3AC7FIH1Eb
https://dl.doubtnut.com/l/_YmEfr7LBwOba


D. Both the compounds are optically active.

Answer: A::C

Watch Video Solution

39. Which of the following compounds are gemdihalides ?

A. Ethylidene chloride

B. Ethylene dichloride

C. Methylene chloride

D. Benzyl chloride

Answer: A::C

Watch Video Solution

40. Which of the following are secondary bromides ?

https://dl.doubtnut.com/l/_YmEfr7LBwOba
https://dl.doubtnut.com/l/_jSKuBu0I9Hqv
https://dl.doubtnut.com/l/_UxDaL3uZ4BSf


A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

(CH3)2CHBr

(CH3)3CCH2Br

CH3CH(Br)CH2CH3

(CH3)2CBrCH2CH3

41. Which of the following compounds can be classified as aryl halides ?

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

p − ClC6H4CH2CH(CH3)2

p − CH3CHCl(C6H4)CH2CH3

o − BrH2C − C6H4CH(CH3)CH2CH3

C6H5 − Cl

https://dl.doubtnut.com/l/_UxDaL3uZ4BSf
https://dl.doubtnut.com/l/_EHxjE72i2Hry


42. Alkyl halides are prepares from alcohols by treating with

A. 

B. Red 

C. 

D. All of the above

Answer: A::B

Watch Video Solution

HCl + ZnCl2

P + Br2

H2SO4 + KI

43. Alkyl fluorides are synthesised by alkyl chloride / bromide in presence

of …….. or ……… .

A. 

B. 

C. 

CaF2

CoF2

Hg2F2

https://dl.doubtnut.com/l/_EHxjE72i2Hry
https://dl.doubtnut.com/l/_hYQR5ofnTJtv
https://dl.doubtnut.com/l/_n6KuOlwbvSWD


Section D Ncert Exemplar Solution Short Answer Type Questions

D. NaF

Answer: B::C

Watch Video Solution

1. Aryl chloridesand bromides can be easily prepared by electrophilic

substitution of arenes with chlorine and bromine respectively in the

presence of Lewis acid catalysts. But why does preparation of aryl iodides

requires presence of an oxidizing agent ?

Watch Video Solution

2. Out of o - and p - dibromobenzene which one has higher melting point

and why ?

Watch Video Solution

https://dl.doubtnut.com/l/_n6KuOlwbvSWD
https://dl.doubtnut.com/l/_ZXaaWGTIAJ3a
https://dl.doubtnut.com/l/_e7XDjBN9chDo


3. Which of the compounds will react faster in  reaction with the 

 ion ? 

 OR 

Watch Video Solution

SN1

−OH

CH3 − CH2 − Cl C6H5 − CH2 − Cl

4. Why iodoform has appreciable antiseptic property ?

Watch Video Solution

5. Haloarenes are less reactive than haloalkanes and haloalkenes. Explain.

Watch Video Solution

6. Discuss the role of Lewis acids in the preparation of aryl bromides and

chlorides in the dark.

W t h Vid S l ti

https://dl.doubtnut.com/l/_e7XDjBN9chDo
https://dl.doubtnut.com/l/_iRNAMV1WBN1X
https://dl.doubtnut.com/l/_Dy1yNXu9hsL4
https://dl.doubtnut.com/l/_nI9aqI3Gcv6i
https://dl.doubtnut.com/l/_0NyWOZAy0hjo


Watch Video Solution

7. Which of the following compounds (i) and (ii) will not react with a

mixture of NaBr and . Explain why ? 

(i)  

(ii) 

Watch Video Solution

H2SO4

CH3CH2CH2OH

8. Which of the products will be major product in the reaction given

below ? Explain. 

Watch Video Solution

CH3CH = CH2 + HI → CH3CH2CH2I
(A )

+ CH3CHICH3
(B )

https://dl.doubtnut.com/l/_0NyWOZAy0hjo
https://dl.doubtnut.com/l/_WsdUhfe0hz33
https://dl.doubtnut.com/l/_19wszqPUWdE2


9. Why is the solubiliuty of haloalkanes in water very low ?

Watch Video Solution

10. Draw other resonance structures related to the following structure

and find out whether the functional group present in the molecule is

https://dl.doubtnut.com/l/_19wszqPUWdE2
https://dl.doubtnut.com/l/_Pj7cS1EAv1qW
https://dl.doubtnut.com/l/_MXikd5bbiCzU


ortho, para directing or meta directing. 

Watch Video Solution

https://dl.doubtnut.com/l/_MXikd5bbiCzU
https://dl.doubtnut.com/l/_iYcvdoG2gGkR


11. Classify the following compounds as primary, secondary and tertiary

halies. 

(i) 1-Bromobut-2-ene 

(ii) 4-Bromopent-2-ene 

(iii) 2-Bromo-2-methylpropane

Watch Video Solution

12. Compound 'A' with molecular formula  is treated with aq. KOH

solution. The rate of this reaction depends upon the concentration of the

compound 'A' only. When another optically active isomer 'B' of this

compound was treated with aq. KOH solution, the rate of reaction was

found to be dependent on concentration of compound and KOH both. 

(i) Write down the structural formula of both compounds 'A' and 'B'. 

(ii) Out of these two compounds, which one will be converted to the

product with inverted configuration.

Watch Video Solution

C4H9Br

https://dl.doubtnut.com/l/_iYcvdoG2gGkR
https://dl.doubtnut.com/l/_cIvoeSegCBAR
https://dl.doubtnut.com/l/_SxY2sWoHVUNC


13. Write the structures and names of the compounds formed when

compound 'A' with molecular formula,  is treated with  in the

presence of .

Watch Video Solution

C7H8 Cl2

FeCl3

14. Identify the products A and B formed in the following reaction : 

Watch Video Solution

CH3 − CH2 − CH = CH − CH3 + HCl → A + B

15. Which of the following compounds will have the highest melting point

and why ? 

Watch Video Solution

https://dl.doubtnut.com/l/_SxY2sWoHVUNC
https://dl.doubtnut.com/l/_ZVUwAZBT9BXa
https://dl.doubtnut.com/l/_hllhAk4SzVyK


16. Write down the structure and IUPAC name for neo-pentylbromide.

Watch Video Solution

17. A hydrocarbon of molecular mass 72 g  gives a single

monochloro derivative and two dichloro derivatives on photo

chlorination. Give the structure of the hydrocarbon.

Watch Video Solution

mol− 1

18. Name of the alkene which will yield/chloro-1-methylcyclohexane by its

reaction with HCl. Write the reactions involved.

Watch Video Solution

19. Which of the following haloakanes reacts with aqueous KOH most

easily ? Explain giving reason. 

https://dl.doubtnut.com/l/_hllhAk4SzVyK
https://dl.doubtnut.com/l/_wDjOiXgjmycj
https://dl.doubtnut.com/l/_nLbNQ5TJqBg5
https://dl.doubtnut.com/l/_25vXLaqP0MhE
https://dl.doubtnut.com/l/_I9B8lReCihzB


(i) 1-Bromobutane 

(ii) 2-Bromobutane 

(iii) 2-Bromo-2-methylpropane 

(iv) 2-Chlorobutane

Watch Video Solution

20. Why can aryl halieds not be prepared by reaction of phenol with HCl

in the presence of  ?

Watch Video Solution

ZnCl2

21. Which of the following compounds would undergo  reaction

faster and why ? 

SN1

https://dl.doubtnut.com/l/_I9B8lReCihzB
https://dl.doubtnut.com/l/_AcEcYLNsae6G
https://dl.doubtnut.com/l/_SAonSAxfg2As


Watch Video Solution

22. Allyl chloride is hydrolysed more readily than n-propyl chloride. Why ?

Watch Video Solution

23. Why is it necessary to avoid even traces of misture during the use of a

Grignard regent ?

Watch Video Solution

24. How do polar solvents help in the first step in  mechanism ?

Watch Video Solution

SN1

25. Write a test to detect the presence of double bond in a molecule.

Watch Video Solution

https://dl.doubtnut.com/l/_SAonSAxfg2As
https://dl.doubtnut.com/l/_dS2M7kdCTTXO
https://dl.doubtnut.com/l/_PoqYXNsdB9rU
https://dl.doubtnut.com/l/_JkklMwtMxh9d
https://dl.doubtnut.com/l/_IBYfU2T02797


26. Diphenyls are potential threat to the environment. How are these

produced from aryl halides ?

Watch Video Solution

27. What are the IUPAC names of the insecticide DDT and

benzenehexachloride ? Why is their use banned in India and other

countries ?

Watch Video Solution

28. Elimination reactions (especially -elimination) are as common as the

nucleophilic substitution reaction in case of alkyl halides. Specify the

reagents used in both cases.

Watch Video Solution

β

https://dl.doubtnut.com/l/_IBYfU2T02797
https://dl.doubtnut.com/l/_k4kNoH1B7M73
https://dl.doubtnut.com/l/_jadB8gE3kRAO
https://dl.doubtnut.com/l/_IXM8nVbCehHA
https://dl.doubtnut.com/l/_xfjhWItlAjS1


29. How will you obtain monobromobenzene from aniline ?

Watch Video Solution

30. Aryl halides are extremely less reactive towards nucleophilic

substitution. Predict and explain the order of reactivity of the following

compounds towards nucleophilic substitution : 

Watch Video Solution

31. tert-Butylbromide reacts with aq. NaOH by  mechanism while n -

butylbromide reacts by  mechanism. Why ?

Watch Video Solution

SN1

SN2

https://dl.doubtnut.com/l/_xfjhWItlAjS1
https://dl.doubtnut.com/l/_naSBPgwpaURy
https://dl.doubtnut.com/l/_K2Dj3abj8WGs


32. Predict the major product formed when HCl is added to isobutylene.

Explain the mechanism involved.

Watch Video Solution

33. Discuss the nature of C - X bond in the haloarenes.

Watch Video Solution

34. How can you obtain iodoethane from ethanol when no other iodine

containing reagent except NaI is available in the laboratory ?

Watch Video Solution

35. Cyanide ion acts as an ambident nucleophile. From which end it acts

as a stronger nucleophile in aqueous medium ? Give reason for your

answer.

https://dl.doubtnut.com/l/_7BSCuxMK25Ci
https://dl.doubtnut.com/l/_3ARBHZ8askbe
https://dl.doubtnut.com/l/_6KDVtqW3giVA
https://dl.doubtnut.com/l/_nVFAay4VvUvx


Section D Ncert Exemplar Solution Matching The Columns

Watch Video Solution

1. Match the compounds given in Column - I with the effects given in

Column - II. 

Watch Video Solution

Column - I Column - II

(i) Chloramphenicol (a) Malaria

(ii) Thyroxine (b) Anaesthetic

(iii) Chloroquine (c) Typhoid fever

(iv) Chloroform (d) Goiter

(e) Blood substituent

2. Match the items of Column - I and Column - II. 

Watch Video Solution

Column - I Column - II

(i) SN1 reaction (a) vic-dibromides

(ii) Chemicals is fire extinguisher (b) gem-dihalides

(iii) Bromination of alkenes (c) Racemisation

(iv) Alkylidene halides (d) Saytzeff rule

(v) Elimination of HX from alkylhalide (e) Chlorobromocarbons

https://dl.doubtnut.com/l/_nVFAay4VvUvx
https://dl.doubtnut.com/l/_mL90am6ap4Ng
https://dl.doubtnut.com/l/_AGVCmOCWsNg2


3. Match the structures of compounds given in Column - I with the classes

of compounds given in Column - II. 

Watch Video Solution

4. Match the reactions given in Column - I with the types of reactions

given in Column - II. 

https://dl.doubtnut.com/l/_AGVCmOCWsNg2
https://dl.doubtnut.com/l/_7jQx4EsIfOJ1
https://dl.doubtnut.com/l/_NfTs7VLuiXtV


Watch Video Solution

5. Match the structures given in Column - I with the names in Column - II. 

https://dl.doubtnut.com/l/_NfTs7VLuiXtV
https://dl.doubtnut.com/l/_d6nV2umWhABc


Section D Ncert Exemplar Solution Assertion And Reason Type

Watch Video Solution

6. Match the reactions given in Column - I with the names given in

Column - II. 

Watch Video Solution

https://dl.doubtnut.com/l/_d6nV2umWhABc
https://dl.doubtnut.com/l/_H3xPN1vDNljQ


1. Assertion (A) : Phosphorus chlorides (tri and penta) are preferred over

thionyl chloride for the preparation of alkyl chlorides from alcohols. 

Reason (R ) : Phosphorus chlorides give pure alkyl halides.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason both are wrong statements.

C. Assertion is correct but reason is wrong statement.

D. Assertion is wrong but reason is correct statement.

Answer: B

Watch Video Solution

2. Assertion (A) : The boiling points of alkyl halides decrease in the order :

 

Reason (R ) : The boiling points of alkyl chlorides, bromides and iodides

RI > RBr > RCl > RF

https://dl.doubtnut.com/l/_zehXT2XT2nkT
https://dl.doubtnut.com/l/_WYH2HYcxKsZp


are considerably higher than that of the hydrocarbon of comparable

molecular mass.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason both are wrong statements.

C. Assertion is correct but reason is wrong statement.

D. Assertion and reason both are correct statements but reason is not

correct explanation of assertion.

Answer: D

Watch Video Solution

3. Assertion (A) : KCN reacts with methyl chloride to give methyl

isocyanide. 

Reason (R ) :  is an ambident nucleophile.CN −

https://dl.doubtnut.com/l/_WYH2HYcxKsZp
https://dl.doubtnut.com/l/_F2G1zeFo0dzX


A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason both are wrong statements.

C. Assertion is correct but reason is wrong statement.

D. Assertion is wrong but reason is correct statement.

Answer: D

Watch Video Solution

4. Assertion (A) : tert-Butyl bromide undergoes Wurtz reaction to give 2,

2, 3, 3 - tetramethyl butane. 

Reason (R ) : In Wurtz reaction, alkyl halides react with sodium in dry

ether to give hydrocarbon containing double the number of carbon

atoms present in the halide.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

https://dl.doubtnut.com/l/_F2G1zeFo0dzX
https://dl.doubtnut.com/l/_cqbnUedHwDqr


B. Assertion and reason both are wrong statements.

C. Assertion is correct but reason is wrong statement.

D. Assertion and reason both are correct statements but reason is not

correct explanation of assertion.

Answer: D

Watch Video Solution

5. Assertion (A) : Presence of a nitro group at ortho or para position

increases the reactivity of haloarenes towards nucleophilic substitution. 

Reason (R ) : Nitro group, being an electron withdrawing group decreases

the electron density over the benzene ring.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason both are wrong statements.

C. Assertion is correct but reason is wrong statement.

https://dl.doubtnut.com/l/_cqbnUedHwDqr
https://dl.doubtnut.com/l/_yFBmcHz38OYg


D. Assertion is wrong but reason is correct statement.

Answer: A

Watch Video Solution

6. Assertion (A) : In monohaloarenes, further electrophilic substitution

occurs at ortho and para positions. 

Reason (R ). Halogen atom is a ring deactivator.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason both are wrong statements.

C. Assertion is correct but reason is wrong statement.

D. Assertion and reason both are correct statements but reason is not

correct explanation of assertion.

Answer: D

https://dl.doubtnut.com/l/_yFBmcHz38OYg
https://dl.doubtnut.com/l/_1CEbwFzdlObu


Watch Video Solution

7. Assertion (A) : Aryl iodides cab be prepared by reaction of arenes with

iodine in the presence of an oxidising agent. 

Reason (R ) : Oxidising agent oxidises  into HI.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason both are wrong statements.

C. Assertion is correct but reason is wrong statement.

D. Assertion is wrong but reason is correct statement.

Answer: C

Watch Video Solution

I2

8. Assertion (A) : It is difficult to replace chlorine by - OH in chlorobenzene

in comparison to that in chloroethane. 

https://dl.doubtnut.com/l/_1CEbwFzdlObu
https://dl.doubtnut.com/l/_Q3dvNJz3W3Pf
https://dl.doubtnut.com/l/_jZe20OqQ5ZcF


Reason (R ) : Chlorine - carbon (C - Cl) bond in chlorobenzene has a partial

double bond character due to resonance.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason both are wrong statements.

C. Assertion is correct but reason is wrong statement.

D. Assertion is wrong but reason is correct statement.

Answer: A

Watch Video Solution

9. Assertion (A) : Hydrolysis of -bromooctane proceeds with

inversion of configuration. 

Reason (R ) : This reaction proceeds through the formation of a

carbocation.

( − ) − 2

https://dl.doubtnut.com/l/_jZe20OqQ5ZcF
https://dl.doubtnut.com/l/_yaudyeshSLs4


A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason both are wrong statements.

C. Assertion is correct but reason is wrong statement.

D. Assertion is wrong but reason is correct statement.

Answer: C

Watch Video Solution

10. Assertion (A) : Nitration of chlorobenzene leads to the formation of m-

nitrochlorobenzene. 

Reason (R ) :  group is a m-directing group.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason both are wrong statements.

C. Assertion is correct but reason is wrong statement.

−NO2

https://dl.doubtnut.com/l/_yaudyeshSLs4
https://dl.doubtnut.com/l/_STsOfwc7vhYU


Section D Ncert Exemplar Solution Long Answer Type Questions

D. Assertion is wrong but reason is correct statement.

Answer: D

Watch Video Solution

1. Some alkyl halides undergo substitution whereas some undergo

elimination reaction on treatment with bases. Discuss the structural

features of alkyl halides with the help of examples which are responsible

for this difference.

Watch Video Solution

2. Some halogen containing compounds are useful in daily life. Some

compounds of this class are responsible for exposure of flora and fauna

to more and more of UV light which causes destruction to a great extent.

https://dl.doubtnut.com/l/_STsOfwc7vhYU
https://dl.doubtnut.com/l/_pH3bU10DeW1q
https://dl.doubtnut.com/l/_kIdAgeqdIxBr


Section E Multiple Choice Questions

Name the class of these halocompounds. In your opinion, what should be

done to minimise harmful effects of these compounds.

Watch Video Solution

3. Why are aryl halides less reactive towards nucleophilic substitution

reactions than alkyl halides ? How can we enhance the reactivity of aryl

halides ?

Watch Video Solution

1. The derivatives that are not found in nature are …..

A. Alkanes

B. Carbohydrates

C. Haloalkanes

https://dl.doubtnut.com/l/_kIdAgeqdIxBr
https://dl.doubtnut.com/l/_STQOUXy9iSIa
https://dl.doubtnut.com/l/_YE2slyXfgJDD


D. Fats

Answer: C

Watch Video Solution

2. The compounds obtained by the substitution of hydrogen by halogen

in alkane series is ……..

A. Aryl halides

B. Alkyl halides

C. Carbon halides

D. All of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YE2slyXfgJDD
https://dl.doubtnut.com/l/_Q6D7Q85dWczJ


3. Which of the following is present in a hormone thyroxine ?

A. Fluorine

B. Iodine

C. Bromine

D. Chlorine

Answer: B

Watch Video Solution

4. Which of the following drug is used in treatment of typhoid fever ?

A. Bromopheneramine

B. Chloramphenicol

C. Chloroquine

D. Iodoform

https://dl.doubtnut.com/l/_0g1JIJNboZxv
https://dl.doubtnut.com/l/_Q9Kfwgbek9ky


Answer: B

Watch Video Solution

5. Deficiency of Thyroxine causes ……….

A. Beri - Beri

B. Goiter

C. Urticaria

D. Dwansm

Answer: B

Watch Video Solution

6. Which of the following is not the use of haloalkanes and haloarenes ?

A. Drugs

https://dl.doubtnut.com/l/_Q9Kfwgbek9ky
https://dl.doubtnut.com/l/_zjmwepXCijd0
https://dl.doubtnut.com/l/_X7QWEXzZtQPG


B. Solvent

C. Anaesthesia

D. Cement

Answer: D

Watch Video Solution

7. Which of the following is a primary halide ?

A. Neopentyl bromide

B. Isopropyl bromide

C. 2-Bromobutane

D. 2-Bromo-2-methl propane

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_X7QWEXzZtQPG
https://dl.doubtnut.com/l/_nBHORRRl0VoV
https://dl.doubtnut.com/l/_DUltfohtU7tV


8. The nature of bond of carbon of alkyl group and halogen in alkyl halide

is ……….

A. Covalent

B. Co-ordinate covalent

C. Metallic

D. Ionic

Answer: A

Watch Video Solution

9. Which of the following is a vicinal dihalides ?

A. 

B. 

C. 

CH3 − C 
| 

Br 

H − C 
| 

Br 

H2

C 
| 

Br 

H2 − CH2 − C 
| 

Br 

H2

CH3 −

Br 
| 

C 
| 

Br 

− CH3

https://dl.doubtnut.com/l/_DUltfohtU7tV
https://dl.doubtnut.com/l/_ObC2zpCDaqRd


D. All of these

Answer: A

Watch Video Solution

10. Which of the following is a benzylic halide ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_ObC2zpCDaqRd
https://dl.doubtnut.com/l/_grly59Oz41fH


D. 

Answer: B

Watch Video Solution

11. Which of the following is allylic halide ?

A. 

B. 

C. 

D. 

Answer: B

H3C − CH = C 
| 

Br 

− CH2 − C 
|  

CH3

H − CH3

Br − CH2 − CH = CH − CH2 − C 
|  

CH3

H − CH3

https://dl.doubtnut.com/l/_grly59Oz41fH
https://dl.doubtnut.com/l/_6KiRBaiFM2rT


Watch Video Solution

12. Which of the following is vinylic halide ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H3C − CH − C 
| 

Br 

− CH2 − C 
|  

CH3

H − CH3

CH3CH2 − CH = C 
| 

Br 

− CH2 − CH2 −

CH3

|  

C 
|  

CH3

− CH3

13. Which of the following is an aryl halide ?

https://dl.doubtnut.com/l/_6KiRBaiFM2rT
https://dl.doubtnut.com/l/_zAMVZmnmnp3F
https://dl.doubtnut.com/l/_wylA8y6tjluI


A. 1-Chloromethyl-3-(2,2-dimethylpropyl) benzene

B. 1-Bromo-2-(1-methylpropyl) benzene

C. 1-Bromo-3,3-dimethyl-1-phenylbutane

D. 3-Bromo-3-methyl-1-phenylbutane

Answer: B

Watch Video Solution

14. Which of the following is the correct order of dipole moment ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH2Cl2 > CHCl3 > CCl4

CHCl3 > CH2Cl2 > CCl4

CCl4 > CH2Cl2 > CCl4

CHCl3 > CH2Cl2 > CCl4

https://dl.doubtnut.com/l/_wylA8y6tjluI
https://dl.doubtnut.com/l/_84mQup0ByPoF


15. Which of the following is the correct order of dipole moment ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3F > CH3Cl > CH3Br > CH3I

CH3Cl > CH3F > CH3Br > CH3I

CH3F > CH3Cl > CH3I > CH3Br

CH3I > CH3Br > CH3F > CH3Cl

16. The correct structure of o-dihalobenzne is …….

https://dl.doubtnut.com/l/_84mQup0ByPoF
https://dl.doubtnut.com/l/_ngracs4NEH8A
https://dl.doubtnut.com/l/_yJh0ixccc0o2


A. 

B. 

C. 

D. 

Answer: B

https://dl.doubtnut.com/l/_yJh0ixccc0o2


Watch Video Solution

17. The isomerism not shown by alkyl halides is ……..

A. Chain isomerism

B. Functional isomersim

C. Position isomerism

D. Optical isomerism

Answer: B

Watch Video Solution

18. In which of the following compounds the halogen is not bonded to

 carbon ?

A. Ethylidene dichloride

B. Chloroethyl benzene

sp3

https://dl.doubtnut.com/l/_yJh0ixccc0o2
https://dl.doubtnut.com/l/_bVUhDhEOe3vk
https://dl.doubtnut.com/l/_WiNbuVwT2RWP


C. 3-chlorocyclohex-1-ene

D. 1-chlorocyclohex-1-ene

Answer: D

Watch Video Solution

19. The IUPAC name of  is ……..

A. Ethane-1,2-dibromide

B. 1,2,-dibromo ethane

C. Ethylidene bromide

D. Ethylene dibromide

Answer: B

Watch Video Solution

C 
| 

Br 

H2 − C 
| 

Br 

H2

https://dl.doubtnut.com/l/_WiNbuVwT2RWP
https://dl.doubtnut.com/l/_mdHhdae3nEJK


20. Which of the following is  - Benzylic halide ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3∘

https://dl.doubtnut.com/l/_1zo8bHHirgRN


21. Which of the following has highest bond enthalpy ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − F

CH3 − Cl

CH3 − Br

CH3 − I

22. The common name of vicinal dihalide is ………

A. 1, 2-dihaloalkane

B. Alkylene dihalide

C. Alkulidene halide

D. Alkane -1,2- dihalide

https://dl.doubtnut.com/l/_Rxuf1i86dTL1
https://dl.doubtnut.com/l/_ZII45J5iBy48


Answer: B

Watch Video Solution

23. Which of the following carbocation is maximum stable ?

A. 

B. 

C. 

D. 

Answer: B

CH3 −

CH3

|  

C⊕

|  

CH3

H2CCH −
⊕

CH2

https://dl.doubtnut.com/l/_ZII45J5iBy48
https://dl.doubtnut.com/l/_4IXH5BPJZJG1


Watch Video Solution

24. Which substances are used in aerosol mixtures of insectiside

substance ?

A. Feron - 22

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

CClF3

CCl2F2

25. Alkyl halides are insoluble in ………

A. Water

B. Benzene

https://dl.doubtnut.com/l/_4IXH5BPJZJG1
https://dl.doubtnut.com/l/_ILEYI9PB98pn
https://dl.doubtnut.com/l/_TFKvISYlNshD


C. Hexane

D. Toluene

Answer: A

Watch Video Solution

26. Which of the following alkyhalides show optical isomerism ?

A. 2-Bromobutane

B. Isobutylbromide

C. Neopenthylbromide

D. 1, 4-dichlorobutane

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_TFKvISYlNshD
https://dl.doubtnut.com/l/_6qePuvZhGQdH


27. The alkyl halides are best prepared from ……….

A. Alcohols

B. Alkenes

C. Ethers

D. Alkanes

Answer: A

Watch Video Solution

28. Which of the following is optically active ?

A. 

B. 

https://dl.doubtnut.com/l/_aFx6CDT5DjhV
https://dl.doubtnut.com/l/_AyEV2neaHFGp


C. 

D. 

Answer: B

Watch Video Solution

29. Sym-Tribromobenznene is ………

A. 

B. 

https://dl.doubtnut.com/l/_AyEV2neaHFGp
https://dl.doubtnut.com/l/_L22oeuk3D7Hf


C. 

D. 

Answer: B

Watch Video Solution

30. To prepare alkyl iodides from alcohols, which of following reagent is

used ?

A. 

B. 

I2 + HIO3

KI + H3PO4

https://dl.doubtnut.com/l/_L22oeuk3D7Hf
https://dl.doubtnut.com/l/_ZYSWiIthVSn8


C. NaI + Acetone

D. 

Answer: B

Watch Video Solution

KI + H2SO4

31. In the following reaction : 

 

the,  is not required if R is …….

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

R − OH
HCl
−−→ R − Cl + H2O

ZnCl2

CH3 −

CH3 −

CH3

|  

C 
|  

CH3

−

CH3 − C  
|   

C2H5

H −

CH3 − CH2 −

https://dl.doubtnut.com/l/_ZYSWiIthVSn8
https://dl.doubtnut.com/l/_iOlPLLwyjbY0


Watch Video Solution

32. Consider the following reaction : 

 

The above reaction is not true if R is …….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

R − OH
HCl
−−→ R − Cl + H2O

CH3 −

CH3 − CH2 −

CH3 −

CH3

|  

C 
|  

CH3

−

https://dl.doubtnut.com/l/_iOlPLLwyjbY0
https://dl.doubtnut.com/l/_ITc1HjFB3dmC


33. The major product in the reaction is ……. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1X7vOQ4SPnt0


34. In the given reaction the total number of products obtained are ……. 

A. One

B. Two

C. Three

D. Four

Answer: B

Watch Video Solution

35. High purity and more quantity of haloalkanes are obtained by ……

A. reaction of alcohol with sodium halide and conc. .

B. reaction of alcohol with phosphorus halide.

H2SO4

https://dl.doubtnut.com/l/_hGvOOSBmqeoZ
https://dl.doubtnut.com/l/_TVmrqgsxBvmH


C. reaction of alcohol with HCl in presence of .

D. reaction of alcohols with .

Answer: B

Watch Video Solution

ZnCl2

SOCl2

36. The correct order of reactivity of alcohols with haloacids is …….

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1∘ > 2∘ > 3∘

1∘ > 3∘ > 2∘

3∘ > 2∘ > 1∘

2∘ > 3∘ > 1∘

https://dl.doubtnut.com/l/_TVmrqgsxBvmH
https://dl.doubtnut.com/l/_fNW6ZmBM4NR1


37. Which of the following is not prepared directly from benzene ?

A. Chlorobenzene

B. Bromobenzene

C. Methylbenzene

D. Fluorobenzene

Answer: D

Watch Video Solution

38. Which of the following reagent is not used to prepare alkyl halides

from alcohols ?

A. 

B. Red 

C. 

D. 

Br2 /CCl4

P + Br2

NaBr/H2SO4

KI + H3PO4

https://dl.doubtnut.com/l/_kWSt6MFsyBN6
https://dl.doubtnut.com/l/_89SHiY47CxTb


Answer: A

Watch Video Solution

39. Which of the following have the maximum boiling point ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − CH2CH2CH2Cl

CH3 − C 
|  

CH3

HCH2Cl

CH3 −

CH3

|  

C 
|  

CH3

− Cl

https://dl.doubtnut.com/l/_89SHiY47CxTb
https://dl.doubtnut.com/l/_MZ6ZmpsYoBjN


40. The major product in the reaction is ……. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_IaGWhsb2RYLL


41. The metallic fluoride used in a Swartz reaction is ……….

A. NaF

B. 

C. 

D. 

Answer: C

Watch Video Solution

CuF2

Hg2F2

MgF2

42. Which of the following has maximum density ?

A. 

B. 

C. 

D. 

n − C3H7Cl

CCl4

CHCl3

n − C3H7Br

https://dl.doubtnut.com/l/_IaGWhsb2RYLL
https://dl.doubtnut.com/l/_kHcqrgAoeiL2
https://dl.doubtnut.com/l/_PAHBPhdAyKK5


Answer: B

Watch Video Solution

43. Which of the following cannot be prepared from benzene diazonium

halide ?

A. Chlorobenzene

B. Fluorobenzene

C. Iodobenzene

D. None of these

Answer: D

Watch Video Solution

44.  The (X) in above

reaction is ……..

CH3CH2 − Br + NaI
 Acetone 

−−−−−−→ X + NaBr

https://dl.doubtnut.com/l/_PAHBPhdAyKK5
https://dl.doubtnut.com/l/_7zT8jIhbUdfa
https://dl.doubtnut.com/l/_hDXUo0Gc9uyN


A. Iodomethane

B. Iodoethane

C. Iodopropane

D. Iodubutane

Answer: B

Watch Video Solution

45. Alkyl Fluorides are prepared by ……

A. Finkelstein reaction

B. Hunsdiecker reaction

C. Wurtz reaction

D. Swartz reaction

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_hDXUo0Gc9uyN
https://dl.doubtnut.com/l/_a0TPFa01QuQA


46. The reaction : 

 

is known as ….

A. Finkelstin reaction

B. Hunsdiecker reaction

C. Birnbaum - Simonini reaction

D. Balz-Schiemann reaction

Answer: B

Watch Video Solution

CH3COOAg + Br2

CCl4
−−→ CH3Br + CO2 + AgBr

47. The reaction : 

 

is known as …..

https://dl.doubtnut.com/l/_a0TPFa01QuQA
https://dl.doubtnut.com/l/_U4OGWR63Uplh
https://dl.doubtnut.com/l/_wZ4Lo2pNQ6yf


A. Sandmeyer's reaction

B. Balz-schiemann reaction

C. Birnbaum - Simonini reaction

D. Gatterman reaction

Answer: B

Watch Video Solution

48.  can be obtained in a laboratory by the action of ethyl

alcohol with ……

A. KBr

B. KBr + conc. 

C. 

D. 

Answer: B

C2H5Br

H2SO4

NH4Br

Br2

https://dl.doubtnut.com/l/_wZ4Lo2pNQ6yf
https://dl.doubtnut.com/l/_sF7n4veTVgYP


Watch Video Solution

49. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H3C − C 
|  

CH3

H − CH = CH2

HBr
−−→

CH3 − C 
|  

CH3

H − C 
| 

Br 

H − CH3

CH3 −

Br 
| 

C 
|  

CH3

− CH2 − CH3

CH3 − C 
|  

CH3

H − CH2CH2Br

CH3 −

Br 

| 

C 
|  

CH3

− CH2CH2Br

50. . The (A) is ……

A. 

CH3 − CH = CH2

Br2
−−→
773K

(A)

CH3 − C 
| 

Cl 

H − CH3

https://dl.doubtnut.com/l/_sF7n4veTVgYP
https://dl.doubtnut.com/l/_Wjt3sqVKomcG
https://dl.doubtnut.com/l/_81lO4FakCnTj


B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − C 
| 

Cl 

H − C 
| 

Cl 

H2

Cl − CH2 − CH = CH2

CH3 − CH2 − CH2 − Cl

51. . The (A) is ….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − CH = CH2
SO2Cl2
−−−→

 light 
(A)

Cl − CH2 − CH = CH2

CH3 − C 
| 

Cl 

H − CH3

CH3 − C 
| 

Cl 

H − C 
| 

Cl 

H2

Cl − CH2 − CH2 − CH2 − Cl

https://dl.doubtnut.com/l/_81lO4FakCnTj
https://dl.doubtnut.com/l/_3wCisFqoeMym


52. In the reaction :

A. 

B. 

https://dl.doubtnut.com/l/_HoQn8OiKv0ds


C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HoQn8OiKv0ds


53. In the reaction :

 

The [X] is ……

A. 

B. 

C. HI

D. 

Answer: B

Watch Video Solution

FeI3

HNO3

H3PO4

https://dl.doubtnut.com/l/_pEtqbFbwgaot


54. In the reaction :

 

The product (P) is ……

A. 

B. 

C. 

D. 

Answer: C

W h Vid S l i

https://dl.doubtnut.com/l/_PE387eaazUy3


Watch Video Solution

55. The product (C ) obtained in the following sequence of reaction is : 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_PE387eaazUy3
https://dl.doubtnut.com/l/_aLvXMKXmSZCE


D. 

Answer: C

Watch Video Solution

56. The major product in the reaction is …… 

https://dl.doubtnut.com/l/_aLvXMKXmSZCE
https://dl.doubtnut.com/l/_EFkwLazi5owz


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_EFkwLazi5owz


57. The major product obtained by the following reactions is ….. 

A. 

B. 

C. 

D. 

Answer: C

https://dl.doubtnut.com/l/_a8eowElzRI2m


Watch Video Solution

58. The final product (P) in the following reaction sequence is …… 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_a8eowElzRI2m
https://dl.doubtnut.com/l/_g7qJkrsmhQUD


Answer: D

Watch Video Solution

59. Consider the following reaction 

 

If  is the rate of reaction and  is the rate of racemisation then which

of the following relation is true ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

r1 r2

r1 = r2

r1 = 2r2

r2 = 2r1

r2 = 4r1

https://dl.doubtnut.com/l/_g7qJkrsmhQUD
https://dl.doubtnut.com/l/_3hDFVVIdBbDQ


60. Which of the following will undergo  most readily ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SN2

CH3 − C
||

O

− CH2 − I

CH3CH2I

CH3 − O − CH2 − I

H2C = CH − CH2 − I

61. Arrange the following in decreasing order of their  reactivity : 

 

(iii)  

(iv) 

A. 

SN2

H2C = CH − CH2 − Cl

CH3CH2CH2Cl

(iv) > (iii) > (i) > (ii)

https://dl.doubtnut.com/l/_3BwvzETUqo2n
https://dl.doubtnut.com/l/_MHqTR0DzW1BZ


B. 

C. 

D. 

Answer: B

Watch Video Solution

(ii) > (i) > (iii) > (iv)

(i) > (ii) > (iv) > (iii)

(iii) > (ii) > (i) > (iv)

62. Which of the following is correct order of hydrolysis ? 

A. 

B. 

C. 

D. 

(iii) > (iv) > (ii) > (i)

(ii) > (i) > (iii) > (iv)

(iii) > (ii) > (i) > (iv)

(iv) > (i) > (ii) > (iii)

https://dl.doubtnut.com/l/_MHqTR0DzW1BZ
https://dl.doubtnut.com/l/_106dAxJc76CM


Answer: C

Watch Video Solution

63.  

The product (P) in the reaction is …….

A. 

B. 

C. 

https://dl.doubtnut.com/l/_106dAxJc76CM
https://dl.doubtnut.com/l/_D4jraA2j4t76


D. 

Answer: B

Watch Video Solution

64. Identify the correct reactivity order of  reaction : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SN1

(iii) > (ii) > (i)

(i) > (ii) > (iii)

(i) > (iii) > (ii)

(i) > (ii) > (iii)

https://dl.doubtnut.com/l/_D4jraA2j4t76
https://dl.doubtnut.com/l/_4nJRq7FFEXTV


65. The major product of the reaction is ……. 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_4nJRq7FFEXTV
https://dl.doubtnut.com/l/_2jG3E9SB5w5w


D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_2jG3E9SB5w5w


66. The correct configuration of the compound is …… 

A. (2R, 3R)

B. (2R, 3S)

C. (2S, 3R)

D. (2S, 3S)

https://dl.doubtnut.com/l/_yr2LzIYHIYuh


Answer: D

Watch Video Solution

67. The correct order of nucleophilic strength is …….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΘOH > CH3COO
Θ > CH3O

Θ > C6H5O
Θ

ΘOH > CH3O
Θ > C6H5O

Θ > CH3COO
Θ

ΘOH > CH3O
Θ > CH3COO

Θ > C6H5O
Θ

CH3O
Θ > ΘOH > C6H5O

Θ > CH3COO
Θ

68. Toluene is obtained by reaction of mixture of chlorobenzene and

methyl chloride with Na metal in dry ether. This reaction is called ……

https://dl.doubtnut.com/l/_yr2LzIYHIYuh
https://dl.doubtnut.com/l/_O06qIRZhhYAH
https://dl.doubtnut.com/l/_Nr7IpRNPseIh


A. Wurtz Fitting reaction

B. Fitting reaction

C. Grignard reaction

D. Friedel crafts reaction

Answer: A

Watch Video Solution

69. Identify the major product in the given reaction : 

A. 

https://dl.doubtnut.com/l/_Nr7IpRNPseIh
https://dl.doubtnut.com/l/_LceuXsp8HN8T


B. 

C. 

D. 

Answer: A

Watch Video Solution

70. If a pure enantiomer of 1,3-dichloropentane shown below is subject to

free radical chlorination to obtain trichloropentane how many different

https://dl.doubtnut.com/l/_LceuXsp8HN8T
https://dl.doubtnut.com/l/_L5PllZ2IlP8u


isomers would be formed ? 

A. 7

B. 5

C. 3

D. 9

Answer: A

Watch Video Solution

71. Which of the following compounds will not undergo elimination

reaction in preence of  ?

A. Isobutyl bromide

C2H5O
ΘNa+ /C2H5OH

https://dl.doubtnut.com/l/_L5PllZ2IlP8u
https://dl.doubtnut.com/l/_Hu9Un9ehfclT


B. Neopentyl bromide

C. Secbutyl bromide

D. Isopentyl bromide

Answer: B

Watch Video Solution

72. The correct order of leaving group tendency is ……

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I − > Br− > Cl− > F −

F − > Cl− > Br− > I −

Cl− > F − > Br− > I −

I − > Cl− > Br− > F −

https://dl.doubtnut.com/l/_Hu9Un9ehfclT
https://dl.doubtnut.com/l/_BeCf9jmtq299
https://dl.doubtnut.com/l/_TfV69az8oE1o


73. The final product in the reaction is : 

A. 

https://dl.doubtnut.com/l/_TfV69az8oE1o


B. 

C. 

D. 

https://dl.doubtnut.com/l/_TfV69az8oE1o


Answer: B

Watch Video Solution

74. In the following reaction, the major product formed will be …… 

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

CH3 −

CH3

|  

C 
|  

Cl 

− CH = CH2 + KSH
DMSO
−−−→ (P )

CH3 −

CH3

|  

C 
|  

SH 

− CH = CH2

CH3 −

CH2

||   

C − CH = CH2

CH3 −

CH3

|  

C = CH − CH2 − SH

https://dl.doubtnut.com/l/_TfV69az8oE1o
https://dl.doubtnut.com/l/_VxrEvZBfRytq


75. Which of the following is true for the given reaction ? 

A. The reactant (A) and product (B) are diasteromers of each other.

B. The reactant (A) and product (B) are enantiomers of each other and

both are optically active.

C. Under the same reaction conditions the diastereomers of (A) will

produce the diastereomer of (B).

D. The reactants (A) and product (B) have the same optical rotation

but in opposite direction.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_hSFGF6BgqeAT
https://dl.doubtnut.com/l/_WJL5JaYwgZ8l


76. The major product in the given reaction will be ….. 

A. 

B. 

C. 

D.  and 

Answer: B

Watch Video Solution

CH3 −

Br 

| 

C H − CH2CH3 + CH3 −

CH3

|  

C 
|  

CH3

− O−K + →

CH3 − CH = CH − CH3

CH2 = CH − CH2CH3

CH3 − CH = CH − CH3

https://dl.doubtnut.com/l/_WJL5JaYwgZ8l


77. The major product of the reaction is ……. 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_IkDOfMA4oylS


Answer: A

Watch Video Solution

78. The major product in the given reaction is ….. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − CH2 − C
|

I

H − CH2 − CH3

NaOH
−−−→
H2O

CH3 − C 
| 

OH 

H − CH2 − CH2CH3

CH3 − CH2 − C 
| 

OH 

H − CH2CH3

CH3 − CH = CH − CH2 − CH3

CH2 = CH − CH2 − CH2CH3

https://dl.doubtnut.com/l/_IkDOfMA4oylS
https://dl.doubtnut.com/l/_EqFnhYXQlCR3


79. The stereochemical relation between two compounds (A) and (B) is …… 

A. Identical

B. Diastereomers

C. Enantiomers

D. Constitutional isomers

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_j8dskFT2TH4X


80. In the following reaction : 

 X is …….

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_VKTAaAwJ9cau


81. An aromatic compound  (A) gives AgCl on boiling with

alcoholic  solution and yeilds  on treatement with

sodium hydroxide (A) on oxidation gives monochlorobenzoic acid. The

compound (A).

A. 

B. 

C. 

C7H6Cl2

AgNO3 C7H7Ocl

https://dl.doubtnut.com/l/_VKTAaAwJ9cau
https://dl.doubtnut.com/l/_2bLbjY5JSuzq


D. 

Answer: A

Watch Video Solution

82. Which of the following is most reactive by  ? (tBu = tert-Butyl

group)

A. 

SN I

https://dl.doubtnut.com/l/_2bLbjY5JSuzq
https://dl.doubtnut.com/l/_jiDcbUedC52y


B. 

C. 

https://dl.doubtnut.com/l/_jiDcbUedC52y


D. 

Answer: C

Watch Video Solution

83. What is mixture of dextro and levo isomers called ?

A. Racemic mixture

B. Optical active

C. Resonance mixture

D. All of the given

Answer: A

https://dl.doubtnut.com/l/_jiDcbUedC52y
https://dl.doubtnut.com/l/_MN1v973TYDFo


Watch Video Solution

84. The reaction that take place is aryl halide is ……

A. Nucleophilic substitution

B. Electrophilic addition

C. Electrophilic substitution

D. Nucleophili addition

Answer: C

Watch Video Solution

85. . 

The (Z) in the reaction is …..

A. Ethane

B. Propane

2CH3CH2Cl + 2Na
 Dry 

−−−−→
 Ether 

Z + 2NaCl

https://dl.doubtnut.com/l/_MN1v973TYDFo
https://dl.doubtnut.com/l/_y60acC6MVm4D
https://dl.doubtnut.com/l/_3GketlZT0jHc


C. Sodiumethyl

D. Butane

Answer: D

Watch Video Solution

86. Chlorination of carbon disulphide gives ………

A. Methyl chloride

B. Carbon tetrachloride

C. Chloroform

D. Freon

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3GketlZT0jHc
https://dl.doubtnut.com/l/_qQfytgMykkvx


87. In the given reaction, the product (Z) is ……. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2OH
Ethanol

 Excess 
−−−−−→

Cl2

Ca (OH ) 2

−−−−−→ (Z)

CCl3CH = O

CHCl3

CCl4

Cl3CCH(OH)2

88. Iodoform is used as ……..

A. Anaesthetic

B. Analgesic

C. Antiseptic

https://dl.doubtnut.com/l/_6iEqtTVjmTbE
https://dl.doubtnut.com/l/_Ln1Y7ruCjH9E


D. Anti-allergic

Answer: C

Watch Video Solution

89. To prevent oxidation of chloroform …….. is added.

A. Orthophosphoric acid

B. Ethanol

C. Urea

D. Acetone

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Ln1Y7ruCjH9E
https://dl.doubtnut.com/l/_nbyoZOphYP1W


90.  

The product (Z) is ……..

A. Toluene

B. Ethyl benzene

C. Styrene

D. Nitrobenzene

Answer: B

Watch Video Solution

91.  

The product (A) is …….

A. 

CCl4 + H2
Fe

−−→
H2O

(A) + HCl

CH2Cl2

https://dl.doubtnut.com/l/_ZlwgDLofGHHV
https://dl.doubtnut.com/l/_wnO3Dy2KaXbN


B. 

C. 

D. 

Answer: B

Watch Video Solution

CHCl3

CHI3

CCl2F2

92. When chloroform is kept open in air, a poisonous gas phosgene is

formed. The molecular formula of phosgene is …….

A. 

B. 

C. 

D. HCOCl

Answer: B

Watch Video Solution

PH3

COCl2

CH2Cl2

https://dl.doubtnut.com/l/_wnO3Dy2KaXbN
https://dl.doubtnut.com/l/_hOIJ9L5bWTrD


93. Which polyhalogen compound is used as a fire extinguisher in case of

fire caused by oils, fats etc. ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CHCl3

CH3Cl2

CHI3

CCl4

94. Which product is obtained when chlorobenzene react with 6 to 8% aq.

NaOH at 633 K and 300 bar pressure in presence of acid catalyst ?

A. Benzene

B. Phenol

https://dl.doubtnut.com/l/_hOIJ9L5bWTrD
https://dl.doubtnut.com/l/_sOnV251eAFS9
https://dl.doubtnut.com/l/_d10kcNfLMJIH


C. 2,4,6-trinitrophenol

D. Aniline

Answer: B

Watch Video Solution

95.  

What is 'X' in given reaction ?

A. 2, 4- dinitrophenol

B. 4 - nitrophenol

C. 2,4,6 - trinitrophenol

D. Benzophenone

https://dl.doubtnut.com/l/_d10kcNfLMJIH
https://dl.doubtnut.com/l/_64UeHAU1ZWnj


Answer: B

Watch Video Solution

96. Which product is obtained when chlorobenzene react with NaCN in

presence of  at 473 K temp and high pressure ?

A. Phenyl cynide

B. Phenol

C. Both (A) and (B)

D. 2,4 dinitro phenol

Answer: A

Watch Video Solution

Cu2(CN)2

https://dl.doubtnut.com/l/_64UeHAU1ZWnj
https://dl.doubtnut.com/l/_m7WhpI01p1KL


97.  

What is Z given reaction ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_WFjt2qywawVD


98. Which factor is important to determine stability of carbocation ?

A. Rate of reaction

B. Transition state

C. Resonance

D. Temperature

Answer: C

Watch Video Solution

99. Which compounds enters the body and create possibility of cancer ?

A. 

B. 

C. 

CHCl3

CCl2F2

CH2Cl2

https://dl.doubtnut.com/l/_WFjt2qywawVD
https://dl.doubtnut.com/l/_Iei0eoJsUjpK
https://dl.doubtnut.com/l/_qfZmLvEdF63K


D. DDT

Answer: D

Watch Video Solution

100. Which device is used to measure the magnitude of rotation of the

plane of polarized light ?

A. pH meter

B. Potentiometer

C. Spectrometer

D. Polarimeter

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qfZmLvEdF63K
https://dl.doubtnut.com/l/_0ylOHKMDF3eu


101. Which polyhalo compound is obtained by reduction of  in

presence of  ?

A. 

B. 

C. 

D. DDT

Answer: B

Watch Video Solution

CHCl3

(Zn + HCl)

CCl4

CH2Cl2

CHI3

102. An acyl halide is formed when  reacts with

A. amide

B. alcohol

C. acid

D. ester

PCl5

https://dl.doubtnut.com/l/_YoCj5Oalw218
https://dl.doubtnut.com/l/_ZUc9IvRzAk21


Answer: C

Watch Video Solution

103. The compounds obtained by the substitution of hydrogen by

halogen in alkane series is ……..

A. Chlorobenzene, Vinyl chloride, Chloroethane

B. Chloroethane, Chlorobenzene, Vinyl chloride

C. Vinyl chloride, Chlorobenzene, Chloroethane

D. Vinyl chloride, Chloroethane, Chlorobenzene

Answer: A

Watch Video Solution

104. Allyl chloride is hydrolysed more readily than n-propyl chloride. Why ?

https://dl.doubtnut.com/l/_ZUc9IvRzAk21
https://dl.doubtnut.com/l/_Ma99KR0qXYoL
https://dl.doubtnut.com/l/_L3amhzBf8dsz


A. Propadiene

B. Propylene

C. Alkyl alcohol

D. Acetone

Answer: A

Watch Video Solution

105. The two optical isomers given below are namely ? 

A. Enantiomers

B. Diastereomers

C. Position isomerism

https://dl.doubtnut.com/l/_L3amhzBf8dsz
https://dl.doubtnut.com/l/_sssW9TeV60kK


D. Meso compound

Answer: B

Watch Video Solution

106. A : Benzyl bromide when kept in acetone water it produces benzyl

alcohol. 

R : The reaction follows  mechanism.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason both are wrong statements.

C. Assertion is correct but reason is wrong statement.

D. Assertion is wrong but reason is correct statement.

Answer: A

Watch Video Solution

SN2

https://dl.doubtnut.com/l/_sssW9TeV60kK
https://dl.doubtnut.com/l/_0cCoXm028O5g


107. Which of the following is least reactive in a nucleophilic substitution

reaction ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH2 = CH − Cl

C6H5Cl

CH3CH = CHCl

ClCH2 − CH = CH2

108. Chlorination of toluene in the presence of light and heat followed by

treatment with aqueous  gives

A. o-cresol

B. p-cresol

NaOH

https://dl.doubtnut.com/l/_0cCoXm028O5g
https://dl.doubtnut.com/l/_pgA0p6EBYSWy
https://dl.doubtnut.com/l/_yATNsCjiM9pB


C. Mixture of o- cresol and p-cresol

D. Benzoic acid

Answer: D

Watch Video Solution

109. Which of the following Fisher projection formula is identical to D-

glyceraldehyde ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_yATNsCjiM9pB
https://dl.doubtnut.com/l/_vazJFyEC7C99


D. 

Answer: B

Watch Video Solution

110. The configuration of the following is …… 

A. 1S, 2S

B. 1S, 2R

https://dl.doubtnut.com/l/_vazJFyEC7C99
https://dl.doubtnut.com/l/_AimmOi4Hs4MF


C. 1R, 2S

D. 1R, 2R

Answer: A

Watch Video Solution

111. If acceleration of A is  which is smaller than acceleration of B

then the value of frictional force applied by B on A is :- 

A. Enantiomers

B. Diastereomers

C. Meso Compound

D. Identical

Answer: D

Watch Video Solution

2m/s2

https://dl.doubtnut.com/l/_AimmOi4Hs4MF
https://dl.doubtnut.com/l/_oYvIW7tNlV9q


112. The major product obtained on treatment of 

with  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2CH(F )CH3

CH3O
− /CH3OH

CH3CH2CH(OCH3)CH3

CH3CH = CHCH3

CH3CH2CH = CH2

CH3CH2CH2CH2CH2OCH3

113. 3-methylbut-1-ene on reaction with HBr gives (as major product) ?

A. 

B. 

C. 

C6H5CH2CH(Br)CH3

C6H5CH(BrCH2CH3

C6H5CH2CH2CH2Br

https://dl.doubtnut.com/l/_oYvIW7tNlV9q
https://dl.doubtnut.com/l/_osnBAAM50dNu
https://dl.doubtnut.com/l/_DmdPnYepmnXP


D. 

Answer: B

Watch Video Solution

C6H5CH(Br)CH = CH2

114. Which of the following compounds has the highest boiling point ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2CH2Cl

CH3CH2CH2CH2Cl

CH3CH(CH3)CH2Cl

(CH3)CCl

https://dl.doubtnut.com/l/_DmdPnYepmnXP
https://dl.doubtnut.com/l/_u9N52X8AQHe0


115. The major product formed in the following reaction is …… 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH(Cl)CH2 − CH2OH
 aq. KOH 

−−−−−−→

CH3CH = CHCH2OH

CH2 = CH − CH2CH2OH

CH3 − CH − CH2
|       |

O−CH2

CH3 − C 
| 

OH 

H − CH2CH2OH

116. Which of the following is correct for structures A, B and C ? 

https://dl.doubtnut.com/l/_kmEXFSB70ScV
https://dl.doubtnut.com/l/_jl0cEVouEhl4


A. (B) and (C ) are identical

B. (A) and (B) are diastereomers

C. (A) and (C ) are enantiomers

D. (A) and (B) are enantiomers

Answer: B

Watch Video Solution

117. Which one of the following is optically inactive ?

A. 

B. 

https://dl.doubtnut.com/l/_jl0cEVouEhl4
https://dl.doubtnut.com/l/_42jI0mS49rUW


C. 

D. None of these

Answer: C

Watch Video Solution

118. 3-methylbut-1-ene on reaction with HBr gives (as major product) ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(CH3)2CHCH2CH2Br

(CH3)2CBrCH2CH3

(CH3)2CHCHBrCH3

(CH3)3CCH2Br

https://dl.doubtnut.com/l/_42jI0mS49rUW
https://dl.doubtnut.com/l/_FFpHk0AlxVQM
https://dl.doubtnut.com/l/_P3O6Pdwec30F


119. A : Chloral reacts with phenyl chloride to form DDT. 

R : It is an electrophilic subtitution reaction.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason both are wrong statements.

C. Assertion is correct but reason is wrong statement.

D. Assertion is wrong but reason is correct statement.

Answer: C

Watch Video Solution

120. A compound is formed by substitution of two chlorine for two

hydrogens in propane. The number of possible isomeric compounds is ……

A. 4

B. 3

https://dl.doubtnut.com/l/_P3O6Pdwec30F
https://dl.doubtnut.com/l/_bOOsXVCNAXjU


C. 5

D. 2

Answer: C

Watch Video Solution

121. The two structures written below represent , 

A. pair of diastereomers

B. pair of enantiomers

C. same molecule

D. both are optically inactive

https://dl.doubtnut.com/l/_bOOsXVCNAXjU
https://dl.doubtnut.com/l/_dreycRrc4dRo


Answer: C

Watch Video Solution

122. Which of the following compound possess antiseptic properties ?

A. Dichloro methane

B. Triflouro methane

C. Tri Iodo methane

D. Tetrachloro methane

Answer: C

Watch Video Solution

123. In presence of which compound, benzene reacts with  to give iodo

benzene ?

I2

https://dl.doubtnut.com/l/_dreycRrc4dRo
https://dl.doubtnut.com/l/_s6m4NfBmWkyy
https://dl.doubtnut.com/l/_9i4e97Fg051t


A. 

B. HI

C. 

D. 

Answer: A

Watch Video Solution

HNO3

SO2

H2O

124. In the following reactions, the final product B is ….. 

A. 

B. H COOH

C. 

D. 

Answer: A

CH3Cl
KCN
−−→ A

H + /H2O

−−−−−→ B

CH3COOH

CH3NH2

CH3COCH3

https://dl.doubtnut.com/l/_9i4e97Fg051t
https://dl.doubtnut.com/l/_vFzFXwGzEoLK


Watch Video Solution

125. When you heat chloroform with silver powder ……… is formed.

A. ethene

B. ethyne

C. methane

D. ethane

Answer: B

Watch Video Solution

126. …….. is obtained when 1- chloro butane reacts with alcoholic potash ?

A. 1-butanol

B. 2-butene

C. 1-butene

https://dl.doubtnut.com/l/_vFzFXwGzEoLK
https://dl.doubtnut.com/l/_Prd7SwSuz2KG
https://dl.doubtnut.com/l/_EPLwwj1QF1sn


D. 2-butanol

Answer: C

Watch Video Solution

127. Which of the following reaction is true for preparation of methyl

fluoride ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH4 + HF →

CH3OH + HF →

CH4 + F2 →

CH3Br + AgF →

https://dl.doubtnut.com/l/_EPLwwj1QF1sn
https://dl.doubtnut.com/l/_BlAVH0C1QOqA


128. Chlorobenzene reacts with sodium metal in presence of dry ether to

prepare diphenyl the name of the reaction is ……

A. Fittig reaction

B. Wurtz - Fitting reaction

C. Sandmeyer reaction

D. Gattermann reaction

Answer: A

Watch Video Solution

129. Which of the following will react faster through  mecchanism ?

A. 

B. 

C. 

D. 

SN1

CH2 = CHCH2Cl

C6H5Cl

C6H5CH2Cl

C6H5CH(CH3)Cl

https://dl.doubtnut.com/l/_rjSiv1ABPcHt
https://dl.doubtnut.com/l/_2ZGhrOVB5Jer


Answer: B

Watch Video Solution

130. Which of the following is a nucleophilic substitution reaction ?

A. 

B. HI

C. 

D. 

Answer: A

View Text Solution

HNO3

SO2

H2O

131. Which of the following shows optical isomerism ?

A. HO −

H
|

C
|

H

− CO2H

https://dl.doubtnut.com/l/_2ZGhrOVB5Jer
https://dl.doubtnut.com/l/_kyTJxtJ0awdK
https://dl.doubtnut.com/l/_ZJUitRXfx7xR


B. 

C. 

D. 

Answer: B

Watch Video Solution

H3C −

H 
| 

C 
| 

OH 

− CO2H

H3C −

CH3

|  

C 
|  

H  

− CO2H

H3C −

CH3

|  

C 
| 

Cl 

− CO2H

132. Rate of formation  in this reaction is  

 then rate at which  reacts is :-

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason both are wrong statements.

C. Assertion is correct but reason is wrong statement.

D. Assertion is wrong but reason is correct statement.

SO3 1.6 × 10− 3kg/ min

2SO2 + O2 → 2SO3 SO2

https://dl.doubtnut.com/l/_ZJUitRXfx7xR
https://dl.doubtnut.com/l/_6mlT0xSRZuCR


Answer: A

Watch Video Solution

133. The (R ) - (S) - enantiomers of an optically active compound differ in

……

A. their reactivity with achiral ragents.

B. their optical rotation of plane polarized light.

C. their melting points.

D. their solubility in achiral reagents.

Answer: B

Watch Video Solution

134. Isopropyl chloride undergoes hydrolysis by ……

https://dl.doubtnut.com/l/_6mlT0xSRZuCR
https://dl.doubtnut.com/l/_age6PzLIUVAm
https://dl.doubtnut.com/l/_xdNe7wHdtv6l


A.  mechanisn

B.  mechanism

C.  and  mechanism

D. Neither  nor  mechanism

Answer: C

Watch Video Solution

SN 1

SN 2

SN 1 SN 2

SN 1 SN 2

135. When alkyl halides are treated with alcoholic KOH, the products are

A. an isocyanide.

B. an aldehyde.

C. an cyanide.

D. an alcohol.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_xdNe7wHdtv6l
https://dl.doubtnut.com/l/_8NRkOkIScjHh


136. Which of the following is least reactive in a nucleophilic substitution

reaction ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(CH3)3C − Cl

CH2 − CHCl

CH3CH2Cl

CH2 = CHCH2Cl

137. Which represents nucleophilic aromatic substitution reaction ?

A. Reasction of benzene with  in sunlight

B. Benzyl bromide hydrolysis

C. Reaction of NaOH with dinitro fluoro benzene

Cl2

https://dl.doubtnut.com/l/_8NRkOkIScjHh
https://dl.doubtnut.com/l/_U9nSUaEmrUsb
https://dl.doubtnut.com/l/_o4LkwJNG41Fm


D. Sulphonstion of benzene

Answer: C

Watch Video Solution

138. Which of the following compounds is not chiral ?

A. 1-chloropentane

B. 2-chloropentane

C. 1-chloro-2-methylpentane

D. 3-chloro-2-methylpentane

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_o4LkwJNG41Fm
https://dl.doubtnut.com/l/_zfdz7L2fIdOi


139. The absolute configuration of the compound is ……. 

A. E

B. R

C. S

D. Z

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_eChVHSUCNqZC
https://dl.doubtnut.com/l/_wNm7XEADlcsg


140. For the following : (a)  (b)  (c )  the increasing order of

nuclkeophilicity would be ……

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I − Cl− Br−

Br− < Cl− < I −

I − < Br− < Cl−

Cl− < Br− < I −

I − < Cl− < Br−

141. The reaction of toluene with  in presence of  gives

predominantly.

A. m-chlorotoluene

B. Benzoyl chlordie

C. p-chlorotoluene

Cl2 FeCl3

https://dl.doubtnut.com/l/_wNm7XEADlcsg
https://dl.doubtnut.com/l/_jYyWGhzc0GJB


D. o- and p- chlorotoluene

Answer: D

Watch Video Solution

142. Which of the following is correct order of decreasing  reactivity ?

A. 

B. 

C. 

D.  (X = halogen)

Answer: C

Watch Video Solution

SN2

R2CHX > R3CX > RCH2X

RCH2X > R3CX > R3CX

RCH2X > R2CHX > R3CX

R3CX > R2CHX > RCH2X   

https://dl.doubtnut.com/l/_jYyWGhzc0GJB
https://dl.doubtnut.com/l/_7AMkxMwf8ogR


143.  has a chiral centre. Which one of the

following represents its R - configuration ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − CHCl − CH2 − CH3

H −

C2H5

|  

C 
| 

Cl 

− CH3

H −

CH3

|  

C  
|   

C2H5

− Cl

Cl −

C2H5

|    

C 
| 

H 

− CH3

H3C −

C2H5

|   

C  
| 

H 

− Cl

144. Which of the following compounds are gemdihalides ?

A. 

https://dl.doubtnut.com/l/_5X0C97Wj89jN
https://dl.doubtnut.com/l/_xoYi2xZohiYY


B. 

C. 

D. 

Answer: A

Watch Video Solution

145. The organic compound that undergoes carbylamine reaction is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(CH3)2CHCl

CH3Cl

(C2H5)2CHCl

(CH3)3CCl

https://dl.doubtnut.com/l/_xoYi2xZohiYY
https://dl.doubtnut.com/l/_c8I7xseHJmQq


146. The absolute configuration of 

 is …..

A. R, S

B. S, R

C. S, S

D. R, R

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_c8I7xseHJmQq
https://dl.doubtnut.com/l/_sWBNTruWjHU1


147. In a  substitution reaction of the type 

 which one of the following has the

highest relative rate ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SN2

R − Br + Cl− DMF
−−→ R − Cl + Br−

CH3 − CH2 − CH2Br

CH3 − C 
|  

CH3

H − CH2Br

CH3 −

CH3

|  

C 
|  

CH3

− CH2Br

CH3CH2Br

148. Which of the following reaction is an example of nucleophilic

substitution reaction ?

A. 2RX + Na → R − R + 2NaK

https://dl.doubtnut.com/l/_jBMa47KhWzmw
https://dl.doubtnut.com/l/_a8grq3EUEXBb


B. 

C. 

D. 

Answer: D

Watch Video Solution

RX + H2 → RH + HX

RX + Mg → RMgX

RX + KOH → ROH + KX

149. In the chemical reaction,

 the

compounds 'A' and 'B' respectively are …..

A. Nitrobenzene and chlorobenzene

B. Nitrobenzene and fluorobenzene

C. Phenol and Benzene

D. Benzene diazonium chloride and fluorobenzene

https://dl.doubtnut.com/l/_a8grq3EUEXBb
https://dl.doubtnut.com/l/_trjnMt4AX2ax


Answer: D

Watch Video Solution

150. Which of the following is nucliophilic addition reaction ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − CH = CH2 + H2O
H +

−−→ CH3 − C 
| 

OH 

H − CH3

R − CHO + R' − MgX → R − C 
| 

OH 

H − R'

R − CH2 − C 
|  

CH3

H − CH2Br + NH3 → CH3 − CH2 − C 
|  

CH3

H − CH2

CH3CHO + HCN → CH3 − C 
| 

OH 

H − CN

https://dl.doubtnut.com/l/_trjnMt4AX2ax
https://dl.doubtnut.com/l/_2nSB3eKdI3MT


151. Which of the following is /are the method (s) of determining the

molecular mass ?

A. Neopentane

B. Isohexane

C. Neohexane

D. Tetiary butyl chloride

Answer: A

Watch Video Solution

152. What is DDT among the following

A. A fertilizer

B. Biodegradable pollutant

C. Non-biodegradable pollutant

D. Greenhouse gas

https://dl.doubtnut.com/l/_CBgPKnKEnZP0
https://dl.doubtnut.com/l/_EFTe67s9fULd


Answer: C

Watch Video Solution

153. Consider the reactions : 

(1)  

(2)  

The mechanisms of reactions (i) and (ii) are respectively :

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

(CH3)2CH − CH2Br
C2H5OH
−−−−→ (CH3)2CH − CH2OC2H5 + HBr

(CH3)2CH − CH2Br
C2H5O

−

−−−−→ (CH3)2CH − CH2OC2H5 + Br−

SN1 SN2

SN1 SN1

SN2 SN2

SN2 SN1

https://dl.doubtnut.com/l/_EFTe67s9fULd
https://dl.doubtnut.com/l/_N7kUBWnDedzA


154. A solution of (-)-chloro-1-phenylethane in toluene racemises slowly in

the presence of a small amount of , due to the formation of:-

A. carbanion

B. carbene

C. carbocation

D. free radical

Answer: C

Watch Video Solution

SbCI5

155. In  reactions, the correct order of reactivity for the following

compounds : 

 and  is :

A. 

B. 

SN2

CH3Cl, CH3CH2Cl, (CH3)2CHCl (CH3)3CCl

CH3CH2Cl > CH3Cl > (CH3)2CHCl > (CH3)3CCl

(CH3)2CHCl > CH3CH2Cl > CH3Cl > (CH3)3CCl

https://dl.doubtnut.com/l/_MbzTBIG2F9YU
https://dl.doubtnut.com/l/_M5BR6RoBFArg


C. 

D. 

Answer: D

Watch Video Solution

CH3Cl > (CH3)2CHCl > CH3CH2Cl > (CH3)3CCl

CH3Cl > CH3CH2Cl > (CH3)2CHCl > (CH3)3CCl

156. The major organic compound formed by the reaction of 1,1,1 -

trichloroethane with silver powder is :

A. 2-Butyne

B. 2-Butene

C. Acetylene

D. Ethene

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_M5BR6RoBFArg
https://dl.doubtnut.com/l/_MaEzrJqstARm
https://dl.doubtnut.com/l/_B5loAeqDjLgQ


157. The synthesis of alkyl fluoride is best accomplished by:

A. Free radical fluorination

B. Sandmeyer's reaction

C. Finkelstein reaction

D. Swarts reaction

Answer: D

Watch Video Solution

158. Which of the following compounds will not undergo hydrolysis ?

A. (i) and (ii)

B. (ii) and (iv)

C. (iii) and (iv)

D. (i) and (iv)

https://dl.doubtnut.com/l/_B5loAeqDjLgQ
https://dl.doubtnut.com/l/_QPpPk9ZIqFzz


Answer: C

Watch Video Solution

159. Which of the following is the most correct electron displacement for

a nucleophilic reaction to take place ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QPpPk9ZIqFzz
https://dl.doubtnut.com/l/_bT7BmezFOEUh
https://dl.doubtnut.com/l/_Ib20dapskPuU


160. In which of the following compounds, the C - Cl bond ionisation shall

give most stable carbonium ion ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

161. Which of the following statements is not correct for a nucleophile ?

https://dl.doubtnut.com/l/_Ib20dapskPuU
https://dl.doubtnut.com/l/_QlF3yyAB6INJ


A. Nucleophiles attack low  density sites

B. Nucleophiles are not electron seeking

C. Nucleophile is a Lewis acid

D. Ammonia is a nucleophile

Answer: C

Watch Video Solution

e−

162. Two possible stereo-structures of . COOH, which are

optically active, are called :

A. Enantiomers

B. Mesomers

C. Diastereomers

D. Atropisomers

Answer: A

CH3CHOH

https://dl.doubtnut.com/l/_QlF3yyAB6INJ
https://dl.doubtnut.com/l/_WiV56ws1xcgA


Watch Video Solution

163. In an  reaction on chiral centres, there is :

A. 100 % retention

B. 100 % inversion

C. 100 % racemization

D. inversion more than retention leading to partial racemization.

Answer: D

Watch Video Solution

SN1

164. Which of the following biphenyls is optically active ?

A. 

B. 

https://dl.doubtnut.com/l/_WiV56ws1xcgA
https://dl.doubtnut.com/l/_U3dNiaP9Fdtm
https://dl.doubtnut.com/l/_VIhDpzO6cK6M


C. 

D. 

Answer: A

Watch Video Solution

165. The absolute configuration of

https://dl.doubtnut.com/l/_VIhDpzO6cK6M
https://dl.doubtnut.com/l/_YvUgdN2473Qj


A. (2R, 3R)

B. (2R, 3S)

C. (2S, 3R)

D. (2S, 3S)

Answer: C

Watch Video Solution

166. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H3C − C 
|  

CH3

H − CH = CH2

HBr
−−→

(iii) < (ii) < (i)

(II) < (I) < (III)

(I) < (III) < (II)

(II) < (III) < (I)

https://dl.doubtnut.com/l/_YvUgdN2473Qj
https://dl.doubtnut.com/l/_ZMnScWOD5f3X


Watch Video Solution

167. Which of the following upon treatment with tert-BuONa followed by

addition of bromine water, fails to decolourize the colour of bromine ?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

168. The major product obtained in the following reaction is ……. 

A. 

B. 

( ± )C6H5CH(OtBu)CH2C6H5

C6H5CH = CHC6H5

https://dl.doubtnut.com/l/_ZMnScWOD5f3X
https://dl.doubtnut.com/l/_6zbo6XCzIrjN
https://dl.doubtnut.com/l/_AIC5E6z1vJQ2


C. 

D. 

Answer: B

View Text Solution

( + )C6H5CH(OtBu)CH2C6H5

( − )C6H5CH(OtBu)CH2C6H5

169. Which of the following pairs shows highest bond dissociation

enthalpy among halogens and lowest bond dissociation enthalpy among

hydrogen halides ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

F2, HF

Cl2, HCl

Br2, HBr

I2, HI

https://dl.doubtnut.com/l/_AIC5E6z1vJQ2
https://dl.doubtnut.com/l/_AIWfJjXsrKOQ


170. Among halogens, the one which can oxidise water to oxygen is ……

A. chlorine

B. bromine

C. fluorine

D. iodine

Answer: C

Watch Video Solution

171. The letter 'D' in D-glucose signifies.

A. configuration at all Chiral Carbons.

B. dextrorotatory.

C. that it is a monosaccharide.

D. configuration at the penultimate Chiral Carbon.

https://dl.doubtnut.com/l/_AIWfJjXsrKOQ
https://dl.doubtnut.com/l/_EGgICCsIpuPc
https://dl.doubtnut.com/l/_tP9LMfWlHWbu


Answer: D

Watch Video Solution

172. Which of the compounds will react faster in  reaction with the 

 ion ? 

 OR 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SN1

−OH

CH3 − CH2 − Cl C6H5 − CH2 − Cl

H2C = CH − CH2Cl

CH2 = CHCl

CH3CH2Cl

https://dl.doubtnut.com/l/_tP9LMfWlHWbu
https://dl.doubtnut.com/l/_r1fE2lFMFouE


173. Identify the major products P, Q and R in the following sequence of

reactions : 

View Text Solution

174. Which of the following carbocations is expected to be most stable ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_RduGBFj0qdpS
https://dl.doubtnut.com/l/_RAjSTVmy7Aii


175. Which is the final product obtained by the reaction of a grignard

reagent ethyl Magnesium bromide with propanone ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH4

CH ≡ CH

CH3 − CH3

CH2 = CH2

176. Compound  is found to react with NaOI (produced by

reacting Y with NaOH) and yields a yellow precipitate with characteristic

smell. A and Y are respectively.

A. 

B. 

A, C8H10O

https://dl.doubtnut.com/l/_F8zZNIe0TVvR
https://dl.doubtnut.com/l/_df1J1wILA5df


C. 

D. 

Answer: C

View Text Solution

177. The increasing order of reactivity of the following compounds

towards reaction with alkyl halides directly is ….. 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(ii) < (i) < (iv) < (iii)

(ii) < (i) < (iii) < (iv)

(i) < (iii) < (iv) < (ii)

(i) < (ii) < (iii) < (iv)

https://dl.doubtnut.com/l/_df1J1wILA5df
https://dl.doubtnut.com/l/_pnLmhsm1fDMf


178. An alkene ''A'' on reaction with  and  gives propanone

and ehanal in rquimolar ratio. Addition of HCl to alkene ''A'' gives ''B'' as

the major product. The structure of product ''B'' is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

O3 Zn − H2O

H3C − C H
| 

Cl 

−

CH3

|  

C 
|  

CH3

H

Cl − CH2 − CH2 −

CH3

|  

C 
|  

CH3

H

H3C − CH2 −

CH2Cl

|    

C  H − CH3

H3C − CH2 −

CH3

|  

C 
| 

Cl 

− CH3

179. Among the following, the reaction that proceeds through an

electrophilic substitution, is :

https://dl.doubtnut.com/l/_pnLmhsm1fDMf
https://dl.doubtnut.com/l/_uslzUNmOyfIt
https://dl.doubtnut.com/l/_Ib5en1BVhDG2


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

180. 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_Ib5en1BVhDG2
https://dl.doubtnut.com/l/_XW1xNifovOTv


181. By which of the following reactions, chlorine gas will not be obtained

as the product ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(CH3)3CCH(OH)CH3

Conc.H2SO4

−−−−−−→

(CH3)2CHCH(Br)CH3

 Alc. KOH 
−−−−−−−→

(CH3)2CHCH(Br)CH3

(CH3 ) 3CO
− K +

−−−−−−−−−−→

(CH3)2 − C 
| 

OH 

− CH2 − CHO
Δ

−−→

182. The decreasing order of reactivity towards dehydrohalogenation

 reaction of the following compounds is : 

A. 

(E1)

B > A > D > C

https://dl.doubtnut.com/l/_XW1xNifovOTv
https://dl.doubtnut.com/l/_YZVmJMHlGl41
https://dl.doubtnut.com/l/_YOhdiiV4Ky8z


B. 

C. 

D. 

Answer: D

View Text Solution

B > D > A > C

B > D > C > A

D > B > C > A

183. How many numbers of possible stereo-isomers are there of 2,3,4 tri

chloro pentanoic acid ?

A. 8

B. 12

C. 16

D. 4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_YOhdiiV4Ky8z
https://dl.doubtnut.com/l/_BmZw3Tatz47Y


184. Which one is not a Sandmeyer reagent ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cu2Cl2 + HCl

Cu2Br2 + HBr

Cu2(CN)2 + KCN

Cu2I2 + KI

185. Which one of the Swartz reaction from the following ?

A. 

B. 

C. 

D. 

CH3Cl + NaI
 acetone 

−−−−−→ CH3I + NaCl

CH3Br + NaI
 acetone 

−−−−−→ CH3I + NaBr

CH3Br + AgF − − CH3F + AgBr

2CH3Cl + 2Na
 Dry ether 

−−−−−−→ CH3. CH3 + 2NaCl

https://dl.doubtnut.com/l/_BmZw3Tatz47Y
https://dl.doubtnut.com/l/_BdCGbV8Fefry
https://dl.doubtnut.com/l/_iHhLUjyFiA3o


Answer: C

Watch Video Solution

186. Which of the following statement is incorrect for bimolecular

nucleophylic substitution reaction  ?

A. It is a second order reaction.

B. In  reaction the substrate does not undergo heterolytic fission.

C. The rate of  reaction does not depends on concentrations of

both substrate and nucleophilic reagent.

D.  reaction occurs in single step without forming intermediate.

Answer: C

Watch Video Solution

(SN2)

SN2

SN2

SN2

187. Which of the following is allylic halide?

https://dl.doubtnut.com/l/_iHhLUjyFiA3o
https://dl.doubtnut.com/l/_0Coq6sVRccFu
https://dl.doubtnut.com/l/_sIXXx3bZnlQp


A. Benzyl chloride

B. (1-bromo ethyl) benzene

C. 1-bromo benzene

D. 3-chloro cyclo hex-1-ene

Answer: D

Watch Video Solution

188. 50% of the reagent is used for dehydrohalogenation of 6.45 gm

. What will be the weight of the main product obtained? 


(At. mass of H, C and Cl are 1, 12 & 35.5 respectively]

A. 0.7 gm

B. 1.4 gm

C. 2.8 gm

D. 5.6 gm

CH3CH2Cl

gm/mole− 1

https://dl.doubtnut.com/l/_sIXXx3bZnlQp
https://dl.doubtnut.com/l/_bFqmM6z8dspB


Answer: B

Watch Video Solution

189. Name the following reaction

A. Swartz reaction

B. Finkelstein reaction

C. Wurtz reaction

D. Hell - Volhard Zelinsky reaction

Answer: B

Watch Video Solution

CH3CH2Cl + Nal
acetone
−−−→ , CH2CH2I + NaCl

190. Which of following structure shows R configuration ?

https://dl.doubtnut.com/l/_bFqmM6z8dspB
https://dl.doubtnut.com/l/_zXvXccRPVRbJ
https://dl.doubtnut.com/l/_DBEl6EXmRg1p


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

191. Which statement is improper for tetrachloro methane ?

A. When it comes in direct contact of skin, red rashes are formed.

B. At high temperature on reaction with water forms phosgene.

C. It is used for extinguishing the fire in substances like oil and petrol

D. It is insoluble in water and gives fragrance.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_DBEl6EXmRg1p
https://dl.doubtnut.com/l/_vNSuUHrnIAFS


192. The reaction of  COONa with ____ reagent is the most easy?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(CH3)3

(CH3)2CHBr

CH2CH2Br

(CH3)3CBr

C6H5Br

193. The organic product of which reaction from the following is used as

anaesthetic?

A. Chloral 

B. 

C. Chloral + Chlorobenzene 

+Ca(OH)2 →

CHCl3
H2 /Ni

−−−→

→

https://dl.doubtnut.com/l/_vNSuUHrnIAFS
https://dl.doubtnut.com/l/_YeAdw9OxYRrG
https://dl.doubtnut.com/l/_ybeKtmYV98hm


D. 

Answer: A

Watch Video Solution

Cs2 + 3Cl2
(Anh .AlCl3 )
−−−−−−−−→

194. Which of the following compound gives only one monochloro

product on its chlorination in presence of sunlight?

A. Iso pentane

B. n - pentane

C. Neo pentane

D. n - butane

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ybeKtmYV98hm
https://dl.doubtnut.com/l/_y5s5echded3l


195. Which is the oxidized product obtained when benzene diazonium

chloride reacts with phosphonic acid in presence of water?

A. Chloro benzene

B. Phenol

C. Benzene

D. Phosphorus acid

Answer: D

Watch Video Solution

196. Which of the following compound is the most basic?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_5jhl8kFwNaEn
https://dl.doubtnut.com/l/_fexL0MbNZpcg


Answer: B

Watch Video Solution

197. The number of  and  bonds in orange azo dye is ……….. and ……..

Respecitively.

A. 27 and 7

B. 24 and 7

C. 26 and 7

D. 26 and 6

Answer: C

Watch Video Solution

σ π

198. 1,2-dichloro ethane is which type of halide?

https://dl.doubtnut.com/l/_fexL0MbNZpcg
https://dl.doubtnut.com/l/_EmDK94sm4JNL
https://dl.doubtnut.com/l/_8u2MqzAqO6t6


A. Geminal halide

B. Vicinal halide

C. Alkylidene halide

D. Allylic halide

Answer: B

Watch Video Solution

199. Polarimeter is used to determine __________ of compounds.

A. D and L configuration

B. d and l configuration

C. R and S configuration

D. Both D and L as wel as d & l configuration

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8u2MqzAqO6t6
https://dl.doubtnut.com/l/_p0Pvd9nqZgHA


200. Which of the following group of compounds are extinguisher,

antiseptic, insecticide and anesthetic respectively?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CHCl3, CHI3, DDT , CCl4

DDT , CHCl3, CCl4, CHl3

CCl4, CHI3, DDT , CHCl3

CCl4, CHI3, CHCl3, DDT

201. How many  and  bonds are present in Vinyl Chloride ?

A.  and 

B.  and 

C.  and 

σ π

5σ 1π

4σ 2π

5σ 2π

https://dl.doubtnut.com/l/_p0Pvd9nqZgHA
https://dl.doubtnut.com/l/_MkoCNQMmxeHM
https://dl.doubtnut.com/l/_NjBBeBZeJIiu


D.  and 

Answer: A

Watch Video Solution

4σ 1π

202. In which of the following, halogenated carbon possesses 

hybridization ?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

sp3

CH2 = CH − Cl

https://dl.doubtnut.com/l/_NjBBeBZeJIiu
https://dl.doubtnut.com/l/_P0LI2voUn9Sk


203. The rate of second order reaction depends on ……….

A. only concentration of substrate

B. concentration of two reactants

C. concentration of product

D. concentration of neucleophile

Answer: B

Watch Video Solution

204. Williamson synthesis is ……..

A. SN reaction

B.  reaction

C.  reaction

D. None of the given

SN1

SN2

https://dl.doubtnut.com/l/_Go5wStuF7b4h
https://dl.doubtnut.com/l/_BgvUcz8HaXQb


Answer: C

Watch Video Solution

205. Addition reaction of alkene with hydrogen halide is known as ………..

A. halogenation

B. hydrohalogenation

C. Sandmeyer reaction

D. hydration

Answer: B

Watch Video Solution

206. Which carbon - halogen bond has the lowest bond enthalpy ?

A. C - Cl

https://dl.doubtnut.com/l/_BgvUcz8HaXQb
https://dl.doubtnut.com/l/_E45zaDrLHmVd
https://dl.doubtnut.com/l/_HaQ6Du3wxGif


B. C - Br

C. C - F

D. C - I

Answer: D

Watch Video Solution

207. Choose the correct option about the following sentences. (T = True

and F = False) 

(i) In  reaction always raemic mixture is formed and for  reaction

in 50% cases racemic mixture is formed. 

(ii)  reaction occurs through carbonium ion mechanism, while 

reaction occurs through free radical mechanism.

A. F, F

B. T, T

C. F, T

SN1 SN2

SN1 SN2

https://dl.doubtnut.com/l/_HaQ6Du3wxGif
https://dl.doubtnut.com/l/_0wlSC9lCCUxz


D. T, F

Answer: A

Watch Video Solution

208. How many chiral carbon atoms are there in 1-chloro-2,5 dimethyl

cyclohexane ?

A. 1

B. 0

C. 2

D. 3

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0wlSC9lCCUxz
https://dl.doubtnut.com/l/_puNUVw4fbDAa


209. Determine the correct configuration of following structures : 

 

p = I, q = Br, r = H, S = CI

A. (a) S (b) S (c ) R

B. (a) S (b) R (c ) S

C. (a) R (b) R (c ) S

D. (a) S (b) R (c ) R

Answer: C

Watch Video Solution

s −

p

|
c
|
r

− q

( a )

s −

r
|
c
|
q

− p

( b )

q −

s
|
c
|
p

− r

( c )

210. Mention the compound not containing any chiral carbon atom ?

A. 2-methyl Butanal

B. 2,2-dimethyl propanoic acid

https://dl.doubtnut.com/l/_o3JvB4tS0yhV
https://dl.doubtnut.com/l/_VfgQyk7K4P8E


C. 2-hydroxy propanoic acid

D. 1,2-dichloro propane

Answer: B

Watch Video Solution

211. Which of the following is an example of a geminal Halide ?

A. 1, 2 - dichloropropane

B. 1,4 - dichlorobutane

C. 2-chlorobutane

D. 1,1-dichloropropane

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_VfgQyk7K4P8E
https://dl.doubtnut.com/l/_cUidmgkOpkbN


212. Chlorobenzene can be prepared by reacting Aniline with :

A. Hydrochloric acid

B. Chlorine in presence of anhydrous 

C. Cuprous chloride

D. Nitrous acid followed by heating with Cuprous chloride

Answer: D

Watch Video Solution

AlCl3

213. Which two reagents are required to produce D.D.T. ?

A. Chloral and Chloroform

B. Chloral and Chlorobenzene

C. Chloroform and Chlorobenzene

D. Chloroform and CCl4

https://dl.doubtnut.com/l/_jxG6BP7deM3V
https://dl.doubtnut.com/l/_KI3CCpnHAVBs


Answer: B

Watch Video Solution

214.  

In this equation mention formula of X and Y

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P4 + 8SOCl2 → X + 4SO2 + Y

X = PCl5 (S ) , Y = S (S )

X = PCl5 (S ) , Y = SCl2 (S )

X = PCl3 ( l ) , Y = S2Cl2 ( g )

X = PCl3 ( l ) , Y = SCl2 (S )

215. (i)

CH3CH2OH + Cl2
[O ]

−−−−−−−−−−−−−−→
Bleaching Poweder - 2HCl

X
3Cl2

−−−−−−−−−−−−−−→
Bleaching Poweder - 2HCl

CCl3CHO

https://dl.doubtnut.com/l/_KI3CCpnHAVBs
https://dl.doubtnut.com/l/_9P4c6JYPZY5Y
https://dl.doubtnut.com/l/_julU209AOgG9


(ii)  

The compound 'X' and 'Y' in the above two reactions are :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CCl3CH(OH)2 + NaOH → Y + HCOONa + H2O

X = CH3CHO, Y = CHCl3

X = CH3CHO, Y = CCl4

X = CHCl3, Y = CH3COOH

X = CCl4, Y = CH3Cl

216. Which is the correct IUPAC name for  ?

A. 

B. 

C. 

D. 

CH3 − C  
|   

C2H5

H − CH2 − Br

CH3 − CH(Br) − CH(CH3)2

CH3 − CH2 − CH(Br) − CH2CH3

CH3 − CH2 − CH(CH3) − CH2Br

CH3 − CH(Br) − (CH2)2 − CH3

https://dl.doubtnut.com/l/_julU209AOgG9
https://dl.doubtnut.com/l/_ElJ0oVX5I0KT


Answer: A

Watch Video Solution

217. The compounds with highest ionic character in metal halides, highest

stability in halogen acids and highest acidic strength in halogen acids

respectively are :

A. MI, HCl, HF

B. MF, HF, HI

C. HI, HCl, HBr

D. MF, HBr, HI

Answer: B

Watch Video Solution

218. Which of the following is a free radical Halogenation reactiobn ?

https://dl.doubtnut.com/l/_ElJ0oVX5I0KT
https://dl.doubtnut.com/l/_w0SeR6mpC6m6
https://dl.doubtnut.com/l/_7wgM6ErB20sk


A. Benzene converted to Bromobenzene

B. Phenol converted to chlorobenzene

C. Benzene diazonium chloride converted to chlorobenzene

D. Propane converted to 1-chloropropane and 2-chloropropane

Answer: D

Watch Video Solution

219. How the following conversions can be carried out ? 

2-Chloropropane to 1-propanol

A. Wurtz reaction

B. Wurtz - Fitting reaction

C. Finkelstein reaction

D. Swartz reaction

Answer: A

https://dl.doubtnut.com/l/_7wgM6ErB20sk
https://dl.doubtnut.com/l/_EbupNImC2Joy


Watch Video Solution

220. Which of the following compound is obtained by Sandmeyer reaction

?

A. Benzyl chloride

B. Aniline

C. Chlorobenzene

D. Phenol

Answer: C

Watch Video Solution

221. The degree of halide in isobutyl chloride is :

A. 

B. 

4∘

2∘

https://dl.doubtnut.com/l/_EbupNImC2Joy
https://dl.doubtnut.com/l/_nReqvFdv8I6d
https://dl.doubtnut.com/l/_PI4aHFzi8KYf


C. 

D. 

Answer: D

Watch Video Solution

3∘

1∘

222. Which of the following has less bond enthalpy ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − I

CH3 − F

CH3 − Cl

CH3 − Br

https://dl.doubtnut.com/l/_PI4aHFzi8KYf
https://dl.doubtnut.com/l/_ZHjKEeUvZbTA


223. Which of following compound causes red rashed, if it comes in direct

contact with skin ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CCl4

CHCl3

CH3Cl

CH2Cl2

224. The hybridization of carbon attached to chlorine in benzyl chloride is

:

A. 

B. 

C. sp

dsp2

sp3

https://dl.doubtnut.com/l/_NJr43LntPXxh
https://dl.doubtnut.com/l/_9tbTDHfJUU3I


D. 

Answer: B

Watch Video Solution

sp2

225. Which of the following is obtained by hydrolysis of ethylmagnesium

bromide ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2 − CH = CH2

CH3 − CH3

C4H10

CH2 = CH2

https://dl.doubtnut.com/l/_9tbTDHfJUU3I
https://dl.doubtnut.com/l/_gK8lqoBEqFCF


226. What is B in  ?

A. Meta phosphoric acid

B. Phosphorous acid

C. Pyro phosphorous acid

D. Phosphoric acid

Answer: B

Watch Video Solution

3R − OH + PX3 → 3R − X + B

227. Select the correct order of some important group for absolute

configuration of chiral compound.

A. 

B. 

C. 

D. 

−SO3H > − CH2OH > − COOR > − OCOR

−SO3H > − OCOR > − COOR > − CH2OH

−CH2OH > − COOR > − OCOR > − SO3H

−SO3H > − COOR > − OCOR > − CH2OH

https://dl.doubtnut.com/l/_7pZJzPOUOxCA
https://dl.doubtnut.com/l/_1sAfWdTY2zHP


Answer: B

Watch Video Solution

228. Match the proper pairs : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[A] [B]

(a) Cyclo hexyl chloride (e) Vinylic halide

(b) 4-chloro pent-2-ene (f) Benzylic halide

(c) Chloro ethene (g) 2∘  halide

(d) 1-chloro 2-phenyl methane (h) Allylic halide

a → g, b → h, c → e, d → f

a → h, b → f, c → g, d → e

a → f, b → e, c → g, d → h

a → e, b → g, c → f, d → h

https://dl.doubtnut.com/l/_1sAfWdTY2zHP
https://dl.doubtnut.com/l/_3e2bKyLcm4Ox


229. How many number of  - bond  - electron, chlorine atom and

hydrogen atom is structural formula of DDT, respectively ?

A. 21, 6, 5, 9

B. 29, 12, 5, 9

C. 28, 6, 5, 9

D. 24, 12, 5, 8

Answer: B

Watch Video Solution

σ π

230. What is 'X' in the following reaction ?

A. Butane

B. Ethane

C. Ethene

CH3 − CH2 − Cl + KOH
CH2CH2OH
−−−−−−−→ X + KCl + H2O

https://dl.doubtnut.com/l/_3afmlO5Rqfpk
https://dl.doubtnut.com/l/_tWqGF65sZBni


D. Diethyl ether

Answer: C

Watch Video Solution

231. Which of the following alcohols yields corresponding alkyl chloride

on reaction with conc. HCl + anhyd  at room temperature ?

A. propane-1-ol

B. iso butyl alcohol

C. 2-methyl propan-1-ol

D. 2-methyl butane-2-ol

Answer: D

Watch Video Solution

ZnCl2

https://dl.doubtnut.com/l/_tWqGF65sZBni
https://dl.doubtnut.com/l/_R1OEcSNkIbJU


232. Arrange the following halides in increasing order of  reactivity. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SN 2

CH3Br, CH3CH2Cl, CH3Cl, (CH3)2CHCl

(CH3)2CHCl < CH3CH2Cl < CH3Cl < CH3Br

CH3CH2Cl > CH3Cl > CH3Br > (CH3)2CHCl

CH3CH2Cl < CH3Cl < CH3Br < (CH3)2CHCl

(CH3)2CHCl > CH3CH2Cl > CH3Cl > CH3Br

233. In following reaction what are P, Q, R and S. 

A. P - Aniline, Q - Acetanilide, R - P - amino acetophenone, S - Benzene

B. P - Phenol, Q - Phenyl acetate, R - 2-Hydroxy acetophenone, S -

Acetophenone

C6H5N
+

2 Cl−
H2O
−−→

Δ
P

(CH3CO ) 2O

−−−−−−−→
NaOH

P
An .AlCl3
−−−−−→ R

 Zn Powder 
−−−−−−−→

Δ
S

https://dl.doubtnut.com/l/_ZbjJfc5ayUdS
https://dl.doubtnut.com/l/_yJsQcFd0mBfM


C. P - Phenol, Q - Acetophenone, R - 2-Hydroxy acetophenone, S -

Benzene

D. P - Phenol, Q - P-methyl acetophenone, R - 2-Hydroxy acetophenone,

S - Acetophenone

Answer: B

Watch Video Solution

234. Which is not a polyhalogen ?

A. Methyl chloride

B. Dichloro methane

C. Chloroform

D. Carbon tetrachloride

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_yJsQcFd0mBfM
https://dl.doubtnut.com/l/_OpUlPNCdr9lx


235. Which of the following is used in fire extinguisher ?

A. Pyrene

B. Phosgene

C. Phosphine

D. Ammonia

Answer: A

Watch Video Solution

236. What is the product of Wurtz reaction of methyl iodide ?

A. Methane

B. Ethane

C. Propane

https://dl.doubtnut.com/l/_OpUlPNCdr9lx
https://dl.doubtnut.com/l/_9QtKPy21acPB
https://dl.doubtnut.com/l/_52QRSNLNYFDt


D. Butane

Answer: B

Watch Video Solution

237. Which poisonous compound is formed if Chloroform is kept in open

air ?

A. Phosphine

B. Phosgene

C. Freone

D. Carbon tetrachloride

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_52QRSNLNYFDt
https://dl.doubtnut.com/l/_FymyYebJC4Sb


238. Which is the structural formula of ''Chloral'' ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H5 −

H
|

C
|

Cl− C
|

Cl

−Cl

− C6H5

Cl −

Cl
|

C
|

Cl

− C
||

O

− H

Cl −

Cl
|

C
|

Cl

− C
||

O

− CH3

CH3 − C
||

O

−

Cl
|

C
|

H

− Cl

239. Ethanol reacts with thionyl chloride to gives -

A. Chloro ethene 

B. Chloro ethane 

+HCl + SO2

+HOCl + SO2

https://dl.doubtnut.com/l/_8uBzozOabjNr
https://dl.doubtnut.com/l/_kpNVp5E1XJZS


C. Chloro ethane 

D. Chloro ethane 

Answer: D

Watch Video Solution

+HCl + SO3

+HCl + SO2

240. How many  (sigma) bond and  (pi) bond are present in benzene

diazonium chloride  ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

σ π

[C6H5N2Cl)

6 − σ, 3 − π

14 − σ, 4 − π

14 − σ, 6 − π

13 − σ, 4 − π

https://dl.doubtnut.com/l/_kpNVp5E1XJZS
https://dl.doubtnut.com/l/_HIHo2rnvVYLD
https://dl.doubtnut.com/l/_rqvjoxXFyoSs


241. Which reaction is used to prepare Toluene from chlorobenzene ?

A. Wurtz reaction

B. Wurtz - Fitting reaction

C. Fitting reaction

D. Friedel-Crafts alkylation

Answer: B

Watch Video Solution

242. What is the formula of ''Pyrene'' ?

A. 

B. 

C. 

D. 

CCl3CH(OH)2

CHCl3

CCl4

CH3Cl

https://dl.doubtnut.com/l/_rqvjoxXFyoSs
https://dl.doubtnut.com/l/_oWOQFvNcwMzi


Answer: C

Watch Video Solution

243. Which reagent is used to prepare fluoromethane by Swartz reaction.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CaF2

Ag2S

CoF2

Hg2F2

244.  reaction undergoes in which type of fission ?

A. Homolytic fission

SN1

https://dl.doubtnut.com/l/_oWOQFvNcwMzi
https://dl.doubtnut.com/l/_UZsq03gtK32H
https://dl.doubtnut.com/l/_Gb7rjW0jru3n


B. Heterolytic fission

C. Heterolytic fusion

D. Nuclear fission

Answer: B

Watch Video Solution

245.  What is A & B ?

A. A = o-chloro toluene, B = Toluene

B. A = p-chloro toluene, B = (o + p) dichloro benzene

C. A = Toluene, B = (o + p) chloro toluene

D. A = Toluene, B = Benzyl chloride

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_Gb7rjW0jru3n
https://dl.doubtnut.com/l/_74VY310zPEyV
https://dl.doubtnut.com/l/_zqIQezNscRrv


246. Which is the correct order of boiling point of halomethane ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3F > CH3Cl > CH3Br > CH3I

CH3Br > CH3I > CH3Cl > CH3F

CH3I > CH3Br > CH3Cl > CH3F

CH3F > CH3Br > CH3I > CH3Cl

247.  What is A and B ?

A. 

B. A = Chloro benzene, B = Ethyl benzene

C. 

D. A = Benzoyl chloride, B = Ethoxy benzene

https://dl.doubtnut.com/l/_zqIQezNscRrv
https://dl.doubtnut.com/l/_1jvW45EKnmKi


Answer: B

View Text Solution

248. How many Carbon, Hydrogen and Chlorine atoms are present in DDT

?

A. C = 13, H = 8, Cl = 3

B. C = 14, H = 9, Cl = 5

C. C = 14, H = 8, Cl = 5

D. C = 13, H = 9, Cl = 3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1jvW45EKnmKi
https://dl.doubtnut.com/l/_fEj4E5phNvVf


249. Match the proper pairs : 

A. (P - ii), (Q - iv), (R - i), (S - iii)

B. (P - iv), (Q - ii), (R - iii), (S - v)

C. (P - ii), (Q - i), (R - iv), (S - v)

D. (P - iii), (Q-iv), (R -i), (S - ii)

Answer: D

Watch Video Solution

[A] [B]

(P ) SN2 (i) Freon

(Q) TNP (ii) Hetrolytic fission

(R) CFC (iii) No Hetrolytic fission

(S) SN1 (iv) Picric acid

(v) Fire extinguisher

250. Which of the following substance is used to extinguish fire in

substances like oil, fat and petrol ?

A. CHCl3

https://dl.doubtnut.com/l/_3dE2OdtUYMuX
https://dl.doubtnut.com/l/_5isBHfkYrGCN


B. 

C. 

D. 

Answer: D

Watch Video Solution

CH2Cl2

CH3Cl

CCl4

251. How many  - and  - bonds are present in the structure of D.D.T.

respectively ?

A. 17, 6

B. 20, 6

C. 21, 6

D. 29, 6

Answer: D

Watch Video Solution

σ π

https://dl.doubtnut.com/l/_5isBHfkYrGCN
https://dl.doubtnut.com/l/_8JAahWXYjiIx


252. Which compound will give unimolecular nucleophilic substitution

reaction easily with aqueous NaOH ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C6H5 −

Cl 
| 

C 
|  

C6H5

− CH3

C6H5 − CH2 − CH2 − Cl

C6H5 − C 
| 

Cl 

H − CH3

C6H5 − CH2 − Cl

253. Which of the following compound is optically inactive ?

A. Lactic acid

B. Propanoic acid

https://dl.doubtnut.com/l/_8JAahWXYjiIx
https://dl.doubtnut.com/l/_xJZgmq2bBDh3
https://dl.doubtnut.com/l/_OnE6gsZtunfs


C. Glyceraldehyde

D. Glucose

Answer: B

Watch Video Solution

254. Which compound is optically active ?

A. 2-methylpropan-1-amine

B. Butan-2-amine

C. Butan-1-amine

D. 2-methylpropan-2-amine

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OnE6gsZtunfs
https://dl.doubtnut.com/l/_ptjrnKnpcM8v


255. Which of the following substance does not produce Triodomethane

with the mixture of alkali and  ?

A. Ethanol

B. Dimethyl ketone

C. Propan-1-ol

D. Ethanal

Answer: C

Watch Video Solution

I2

256. Which substance is added in chloroform before the use of it as

anesthetic ?

A. Methyl ethyl ketone

B. Ethyl alcohol

C. Acetone

https://dl.doubtnut.com/l/_CAwKAmL3rCM0
https://dl.doubtnut.com/l/_yK2vSYqMDUMY


D. Methylene chloride

Answer: B

Watch Video Solution

257. Which of the following compound has highest reactivity towards

 reaction ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SN1

C6H3C(CH3)(C6H5)Br

C6H5CH2Br

C6H5CH(C6H5)Br

C6H5CH(CH3)Br

https://dl.doubtnut.com/l/_yK2vSYqMDUMY
https://dl.doubtnut.com/l/_Z56KylKCEHwN


258. Which of the following has the highest dipole moment ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH2Cl2

CHCl3

CCl4

CH3Cl

259. The position of -Br in the compound in

 can be classified as ……………..

A. Benzyl

B. Aryl

C. Vinyl

D. Allyl

CH3CH = CHC(Br)(CH3)2

https://dl.doubtnut.com/l/_2re0KxV4ifXH
https://dl.doubtnut.com/l/_liAx37Ecql88


Answer: D

Watch Video Solution

260. The IUPAC name of the major organic product of the reaction : 

A. 1,2- Dibromobutane

B. 2,2-Dibromobutane

C. 1-Bromobutane

D. 2-Bromobutane

Answer: C

Watch Video Solution

CH3CH2CH = CH2 + HBr
Peroxide

−−−−→

https://dl.doubtnut.com/l/_liAx37Ecql88
https://dl.doubtnut.com/l/_vTZcEnpSgonu

